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PROLOGUE
Anselme, à ton avis, qu’est-ce que c’est que le TEMPS ?

PROLOGUE
Archibald, in your opinion, what is TIME?

Anselme, vad är TIDEN för någonting, i ditt tycke?

_________________________________________________________________

Comment distingue-t-on le PASSE du FUTUR ?

How can we distinguish between the PAST and the FUTURE?

Hur kan man skilja mellan FÖRFLUTNA och FRAMTID?
_____________________________________________________________________

Qu’est-ce que tu fais ?

What are you doing?

Vad gör du?

_____________________________________________________________________

Je vais chercher mon polaroïd.

I'm going to get my Polaroid

Jag ska hämta min polaroid

_____________________________________________________________________

Voilà, ça doit aller…

There, that should do it…

Det var det, det måste funka...

_____________________________________________________________________
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Sophie !

Sophie!

Sophie !

_____________________________________________________________________

Regarde, ces deux clichés. L’un est POSTERIEUR à l’autre. Il doit bien y avoir un moyen de classer ces deux prises de vue dans le temps de déterminer leur CHRONOLOGIE.

Look at these two snaps. One is POSTERIOR to the other. There must be a way of sorting these two pictures by time so as to determine their CHRONOLOGY.

Titta, här är två cliché.  Den ene är SENARE än den andre. Det måste finnas ett sätt att klassificera dessa två bilder i tiden för att fastställa deras TIDSFÖLJD.
_____________________________________________________________________

_____________________________________________________________________

PROBABILITE
PROBABILITY

SANNOLIKHET
_____________________________________________________________________

L’idée est bonne mais voici une machine qui va permettre d’illustrer tout cela plus clairement.

It's a good idea but here's a machine which will show it a lot more clearly.

Det är en bra tanke, men här är en maskin som tillåter att visa det hela enklare. 

_____________________________________________________________________

Il s’agit d’un plateau oscillant autour d’un axe et qui porte des casiers disposés systématiquement.

It consists of a plate oscillating around an axis and which includes ordered compartments

Det handlar om en platta som svänger runt om en axel och som bär systematiskt arrangerade fack.

_____________________________________________________________________

Avant de mettre cette machine en marche, j’ai placé cinq billes dans l’un des casiers, par exemple celui qui se trouve au centre.

Before starting the machine I put five balls into one of the compartments, the centre one for instance

Innan jag sätter i gång denna maskin, har jag lagt fem kulor i varje låda; till exempel i den här i centrum.

_____________________________________________________________________

_____________________________________________________________________
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Voilà, c’est parti. Le plateau, dont l’axe est bien horizontal, oscille doucement, ce qui provoque un mouvement de va-et-vient des billes d’un bord à l’autre.

Right, it's working. The plate, whose axis is perfectly horizontal, oscillates gently which makes the balls move from one edge to the other.

Så här, nu kör vi. Plattan med en väl horisontell axel svänger sakta, vilket förorsakar en pendlande rörelse av kulorna från ena hållet till det andra.

_____________________________________________________________________

_____________________________________________________________________

Regardez : les minuscules irrégularités de la machine et les turbulences de l’air font que les billes ne restent pas dans le casier initial, mais ont au contraire tendance à migrer vers les casiers adjacents.

Look, the tiny irregularities in the machine and air turbulence makes it that the balls don't remain in the original compartment but have a tendancy to migrate towards the adjacent compartments

Titta: maskinens små ojämnheter och luftturbulens gör så att kulorna inte stannar kvar i första låda, utan istället tenderar att flytta till intilliggande lådor.

_____________________________________________________________________

_____________________________________________________________________

Les billes vont et viennent, mais n’ont pas l’air d’avoir la moindre envie de se retrouver dans le même casier.

The balls go backwards and forwards but don't seem to want to end up in the same slot.

Kulorna rullar fram och tillbaka, men verkar inte ha den minsta lust att befinna sig i samma låda.

_____________________________________________________________________

Parce que cette situation est beaucoup trop IMPROBABLE.

Because such a situation is too IMPROBABLE.

Därför att denna situation är  mer OSANNOLIK
_____________________________________________________________________
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Que veux-tu dire ?

What do you mean?

Vad menar du?

_____________________________________________________________________

Réfléchis. Il y a une chance sur cinq qu’un bille se retrouve dans un casier donné, par exemple, le N° 2. Et il y avait également une chance sur cinq qu’une autre bille s’y trouve déjà. Donc il y a une chance sur vingt cinq que deux billes se retrouvent dans le même casier.

Think about it. There is one chance in five that a ball will end up in a given slot, number 2 for example. There is also one chance in five that it will already be there. So there is one chance in twenty-five that two balls end up in the same slot.

Fundera. Det finns en chans på fem att en kula befinner sig i lådan i fråga, till ex, i lådan n2. Och det finns också en chans på fem att en annan kula redan befinner sig där. Det finns alltså en chans på tjugo fem att två kullor befinner sig i samma låda.

_____________________________________________________________________

_____________________________________________________________________

Les PROBABILITES se multiplient et cela fait 1/5 * 1/5 = 1/25

PROBABILITIES multiply so that makes 1/5 * 1/5 = 1/25

SANNOLIKHETER förökar sig och det blir 1/5 * 1/5 = 1/25 
__________________________________________________________________

De même, en jetant trois billes au hasard, il y aura (1/5 * 1/5 * 1/5 = 1/125) une chance sur cent vingt cinq de les retrouver toutes dans un casier donné.

In the same way, if you throw three balls at random you'll have 1/5 * 1/5 * 1/5 = 1/125, one chance in one hundred and twenty-five of ending up with all the balls in the same slot.

På samma sätt, om man kastar tre kulor på måfå, blir det (1/5 * 1/5 * 1/5 = 1/125): en chans på ett hundre tjugo fem att hitta dem alla i en låda i fråga.
_____________________________________________________________________

_____________________________________________________________________

Ceci correspond à une chance sur 5 * 5 * 5 = 625  et cela à une chance sur 55 = 3125, soit une probabilité de 1/3125 = 0,00032.

Which corresponds to 5 * 5 * 5 = 625 [????] and that to one chance in 55 = 3125, so a probability of 1/3125 = 0,00032.

Detta motsvarar en chans på 5 * 5 * 5 = 625 och på en chans på 55 = 3125, alltså en sannolikhet av  1/3125 = 0,00032 
_____________________________________________________________________

_____________________________________________________________________

Si on considère que toutes les cases sont équivalentes, la probabilité de trouver les cinq billes dans une même case sera P = 5 * 0,00032 = 0,0016

If we consider all the slots to be equivalent, the probablity of five balls ending up in the same slot is P = 5 * 0,00032 = 0,0016

Men tanke på att alla lådor är lika, blir sannolikheten att hitta de fem kulorna i en och samma låda 

P = 5 * 0,00032 = 0,0016 
_____________________________________________________________________

____________________________________________________________________
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Si on ne fait aucune différence entre les cases, voici les probabilités attachées à chacune des configurations :

If all the slots are considered to be the same then these are the probabilities attached to each configuration.

Om man inte gör någon skillnad mellan lådorna, så har vi sannolikheterna förknippade med en av konfigurationerna:

_____________________________________________________________________

Drôle : le cas où il y a une bille dans chaque case n’est pas le plus probable.

Odd: one ball in each slot is not the most probable?

Märkligt: möjlighet där det finns en kula i varje låda är inte den mest sannolik
_____________________________________________________________________

Notons les probabilités liées aux configurations successives, dans notre expérience.

Let us note the probablities of successive configurations according to our experience.

Nu ska vi notera sannolikheterna förknippade med successiva konfigurationer i vår experiment

_____________________________________________________________________

SECOND PRINCIPE

SECOND PRINCIPLE

ANDRA PRINCIP
_____________________________________________________________________

Sophie, c’est très net. La probabilité de l’état augmente très vite, puis se succèdent des états ayant les probabilités les plus fortes.

It's quite clear Sophie. The probability of a state increases rapidly followed by states with the highest probabilities.

Sophie, det är mycket enkelt. Tillståndssannolikheten ökar mycket snabbt, sedan följer tillstånd med större sannolikheterna på varandra.

___________________________________________________________________

_____________________________________________________________________

Probabilité d’Etat

Probability of a state

Tillståndssannolikhet

_____________________________________________________________________

Essaye avec 10 casiers et 1000 billes.

Try with 10 slots and 1000 balls

Försök med 10 lådor och 1000 kulor

_____________________________________________________________________
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Anselme a utilisé des plombs de chasse. La probabilité de retrouver les mille plombs dans une même case est (1/10)1000 * 10, soit P=0,0000… … 0001 (998 zéros !). Elle est extrêmement faible.

Archibald used gunshot. The probability of finding the 1000 balls in the same slot is (1/10)1000 * 10, that is P=0,0000… …0001 (998 zeros!). Extremely low therefore.

Anselme använde blyhagel. Sannolikheten att hitta ett tusen kulor i samma låda är (1/10)1000 * 10,

Alltså P=0,0000… … 0001 (998 nollar !). Den är oerhört liten.

_____________________________________________________________________

_____________________________________________________________________

Quand la machine se met en marche, les billes tendent à se distribuer dans les différentes case en quantités pratiquement égales.

When the machine is started, the balls tend to be distributed practically equally in the different slots

När maskinen går i gång, tenderar kulorna att fördelas lika många i olika lådor
_____________________________________________________________________

Tous les états que l’on observe alors sont très voisins d’un état moyen où toutes les cases contiendraient le même nombre de billes (*).

All observed states are therefore very close to an average state where all the slots will contain the same number of balls.

Alla observerade tillstånd ligger mycket ett genomsnittligt tillstånd där alla lådor hade samma antal kulor (*).

_____________________________________________________________________

_____________________________________________________________________

On schématise ce résultat sous la forme du SECOND PRINCIPE en disant que TOUT SYSTEME ISOLE TEND VERS SON ETAT LE PLUS PROBABLE.

We schematize this result in the form of the SECOND PRINCIPLE by saying that ANY ISOLATED SYSTEM TENDS TOWARDS ITS MOST PROBABLE STATE.

Man förenklar resultatet i form av ANDRA HUVUDSATSEN och sager att VARJE ISOLERAT SYSTEM STRÄVAR EFTER SITT MEST SANNOLIKA TILLSTÅND.
_____________________________________________________________________

_____________________________________________________________________

(*) Un système possédant une telle stabilité statistique est appelé ERGODIQUE.

(*) A system having this sort of statistical stability is called ERGODIC.

(*) Ett system som har denna statiska stadighet kallas ERGODIK
_____________________________________________________________________

11 

Qu’est-ce qu’un système qui n’est pas isolé ?

What is a non-isolated system?

Vad är ett icke-isolerat system?

_____________________________________________________________________

En voilà un : lorsqu’Anselme intervient pour ranger les billes.

Here's one: when Archibald intervenes to arrange the balls.

Här är ett: när Anselme ingriper för att ordna sina kulor.

_____________________________________________________________________

A moins qu’il ne soit végétarien.

Unless he's a vegetarian that is.

Om han bara inte är vegetarian.

_____________________________________________________________________

Système isolé prêt à converger vers un état de probabilité max.

Isolated system ready to converge towards a situation of maximum stability.

Isolerat system är redo att konvergera till ett tillstånd av maximal sannolikhet.

_____________________________________________________________________

Regarde, Sophie, j’ai amélioré le système. Sur ce plateau j’ai disposé des casiers et des petits plombs avec lesquels je peux dessiner une forme quelconque.

Look Sophie, I've improved the system. I've arranged the slots and the shot on the plate and can design any form I wish with them.

Titta, Sophie,  jag förbättrade systemet. På plattan lade jag lådor och små kulor med vilka jag kan skapa någon form.

_____________________________________________________________________

_____________________________________________________________________

On recouvre le tout avec une cloche transparente.

We cover everything with a transparent bell jar

Vi täcker det hela med en genomskinlig klocka.

_____________________________________________________________________

Et alors ?

And?

Än sen då ?

_____________________________________________________________________
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Il ne reste plus qu’à donner des coups de marteau par en dessous.

Now I just have to give it a few taps with a hammer underneath.

Det återstår bara att ge några slag med hammaren ovanpå.

_____________________________________________________________________

Boum, boum, boum…

Boom, boom, boom…

Bom, bom, bom....

_____________________________________________________________________

Qu’est-ce qui se passe ? Vous êtes en train de tuer quelqu’un ?

What's happening? Are you killing someone?

Vad hander nu? Håller ni på att döda någon?

_____________________________________________________________________

Non, Anselme est en train de faire tendre un système vers son état de probabilité maximale.

No, Archibald is just making a system tend towards its state of maximum probability.

Nej, Anselme är i färd att få systemet att sträva efter sitt tillstånd av maximal sannolikhet.

_____________________________________________________________________

C’est clair. Le message devient de plus en plus illisible. L’INFORMATION se dégrade progressivement.

It's clear. The message is becoming more and more illegible. INFORMATION degrades progressively.

Det är klart. Meddelandet blir mer och mer oläsligt. INFORMATIONEN försämras gradvis.
_____________________________________________________________________

Autrement dit, j’ai une solution pour classer CHRONOLOGIQUEMENT deux états d’un système isolé. Celui qui a LA STRUCTURE LA PLUS ORDONNEE est le plus ancien.

In other words, I have a solution to CHRONOLOGICALLY classify two states of an isolated system. The one with the MOST ORGANISED STRUCTURE is the oldest.

Med andra ord, har jag en lösning för att klassifiera KRONOLOGISKT två tillstånd av ett isolerat system. 
_____________________________________________________________________

_____________________________________________________________________
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IRREVERSIBLE
IRREVERSIBLE

OÅTERKALLELIG
_____________________________________________________________________

Tu vois, Anselme, la diffusion naturelle va détruire progressivement ce message que nous avons inscrit dans le ciel.

You see, Archibald, natural diffusion will progressively destroy the message we wrote in the sky.

Du ser, Anselme, den naturliga diffusionen kommer att successivt förstöra meddelandet som vi har skrivit i himlen.

_____________________________________________________________________

Ca va ?

OK?

OK ?

_____________________________________________________________________

Beurk !

Eurgh!

Usch !

_____________________________________________________________________

Mais on ne peut pas exclure à priori la possibilité que ces molécules de colorant puissent se regrouper d’elles-mêmes en reconstituant le message.

But we can't ignore the possibility that these molecules of colouring be able to regroup themselves and reconstitute the message.

Men man kan inte utesluta  a priori möjligheten att dessa färgade molekuler kan  samlas av sig själva och återställa meddelandet. 

_____________________________________________________________________

Comme on ne peut pas exclure non plus totalement qu’un coup de marteau particulièrement heureux ne reconstitue ta croix de tout à l’heure.

Just as we can't totally exclude the possibility that a very lucky hammer blow will rebuild the cross you had earler.

Eftersom man heller inte helt kan utesluta att ett särskilt lyckat hammarslag inte återställer korset för en stund sedan.

_____________________________________________________________________

Ou que les molécules d’un colorant de même densité que l’eau ne réforment d’elles-mêmes la goutte initiale.

Or that the molecules of a colouring with the same density as water will somehow reform themselves into the original drop.

Eller att molekulerna av ett färgämne med samma täthet som vatten inte återställer av sig själva den första droppen.

_____________________________________________________________________

Mais comme les probabilités attachées à ces éventualités sont infimes, on les considèrera comme négligeables.

But as these probabilities are tiny, we'll consider them to be negligible

Men eftersom sannolikheterna förknippade med dessa möjligheter är obetydliga, ska vi bortse från dem.

_____________________________________________________________________
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Alors l’Univers court irrémédiablement au CHAOS. Les glaces à la vanille fondent, les montagnes s’éboulent.

So the Universe is irremediably moving towards CHAOS. Vanilla ice-creams melt, mountains crumble.

Universum löper oåterkalleligen mot KAOS. Vaniljglass smälter, fjällen faller sönder.
_____________________________________________________________________

Bref TOUT FOUT LE CAMP.

In short IT'S ALL GOING WRONG.

Kort sagt, ALLTING FÖRSVINNER
_____________________________________________________________________

On lie communément ce phénomène à la croissance irrémédiable d’une grandeur appelée ENTROPIE (*).

We generally associate this phenomenon with the irremediable growth of a quantity called ENTROPY (*).

Vanligen förknippas företeelsen med den oåterkallelige tillväxten av storlek som kallas ENTROPI (*) 
_____________________________________________________________________

Tout cela est positivement bouleversant. Je vais me préparer un peu de thé.

Well that's very upsetting. I think I'll make a cup of tea.

Allt detta är positivt överväldigande. Jag ska göra mig lite te. 

_____________________________________________________________________

Mais cela semble apporter la réponse. Comme l’ENTROPIE se MESURE, cela permettrait de classer CHRONOLOGIQUEMENT les états d’un système.

But it seems to give the answer. As ENTROPY can be MEASURED, we can classify a system's states CHRONOLOGICALLY.

Men detta verkar ge ett svar. Eftersom ENTROPIN MÄTS, tillåter detta klassifiera ett systems tillstånd KRONOLOGISKT.

_____________________________________________________________________

(*) Si P est la probabilité d’un état, l’entropie est S = P LogP, où Log signifie logarithme.

(*) If P is the probability of a state, entropy is S = P LogP, where Log means logarithm.

(*) Om P är sannolikheten av ett tillstånd, är entropin S = P LogP, där Log betyder logaritm.
_____________________________________________________________________
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CELLULES DISSIPATIVES
DISSIPATING CELLS

DISSIPATIVA CELLER
_____________________________________________________________________

Ca alors ! Quand je chauffe l’eau, un système tourbillonnaire à maille hexagonale apparaît, là où avant il n’y avait rien et alors que ma plaque chauffante assure un chauffage très homogène.

There's a thing! When I heat water a swirling hexagonal mesh system appears, there where there was nothing before, yet my hotplate gives a homogenous heat. 

Det var som tusan! När jag värmer upp vatten, uppstår ett virvelsystem med en sexkantig maska, där ingenting fanns förr och plattan på min spis ger en mycket jämn uppvärmning.

_____________________________________________________________________

En faisant s’évaporer cette eau, je croyais créer du désordre et voilà que je crée de l’ordre !?!

By evaporating the water I thought I was creating disorder and in fact I've got order!?!

Genom att få vattnet att dunsta, trodde jag att skapa en oordning och nu skapar jag ordning?!

_____________________________________________________________________

Ce qui signifierait que l’eau bouillante a le pouvoir de faire décroître l’entropie ?

Does that means that boiling water has the power to lessen entropy?

Vilket betyder att kokande vatten har förmågan att minska entropin?

_____________________________________________________________________
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Cela signifie simplement que cette notion d’ENTROPIE ne vaut que pour l’ENSEMBLE DU SYSTEME ISOLE, c'est-à-dire ici l’ensemble réchaud-casserole-eau-atmosphère.

That simply means that this idea of ENTROPY only enters into it for THE WHOLE OF AN ISOLATED SYSTEM, that is to say the ensemble heater-saucepan-water-atmosphere.

Detta betyder helt enkelt att begreppet ENTROPI endast gäller för HELA ISOLERADE SYSTEM, det vill saga, här handlar det om uppsättningen “kokplatta-kastrull-vatten-atmosfer”.
_____________________________________________________________________

Isolant


Convection


Eau chaude


eau froide

Insulator

Convection


Hot water


Cold water

Isolator                       Konvektion
                         Varmt vatten                              Kallt vatten

_____________________________________________________________________

Pas de convection

No convection

Ingen konvektion

_____________________________________________________________________

Il est d’ailleurs tout à fait possible de faire s’évaporer toute cette eau sans tourbillons, sans mouvements convectifs, en la chauffant par rayonnement, par le dessus, à l’aide d’un simple radiateur parabolique (*).

It's also perfectly possible to make all the water evaporate without any swirling, with no convective movement, by heating it with radiation from above, using a simple parabolic radiator (*)

Det är också fullt möjligt att få att dunsta allt detta vatten utan virvlar, utan konvektiva rörelser, genom att värma upp det genom strålning, uppifrån, med hjälp av ett enkelt paraboliskt värmeelement (*)

_____________________________________________________________________

_____________________________________________________________________

Le retour vers L’AMORPHE n’est pas ce qui caractérise l’accroissement d’entropie d’un système. Les CELLULES DISSIPATIVES, quand elles apparaissent, ont pour effet d’accélérer l’évaporation, l’accroissement entropique global.

It isn't the return to AMORPHISM that characterises the increase in entropy of a system. The DISSIPATING CELLS, when they appear, cause an acceleration of evaporation, a global entropic increase.

Återgången till DET AMORFA är inte det som kännetecknar  ökningen av entropi i ett system. DE DISSIPATIVA CELLERNA när de uppkommer har för effekt att snabba upp avdunstningen, en global entropisk ökning.
_____________________________________________________________________

_____________________________________________________________________

Les montagnes s’éboulent d’elles-mêmes, mais l’eau transportée par les nuages accélère cette érosion.

Mountains crumble by themselves but the water carried there by clouds accelerates their erosion.

Fjällen faller sönder av sig själva, men vatten fört med molnen, snabbar upp deras erosion.

_____________________________________________________________________

(*) Voir « Si on volait ? » (Edition Belin)

(*) See "Si on volait?" 

(*) Se « Om man flög ? »

_____________________________________________________________________
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Mais… n’y a t il pas sur Terre des montagnes en formation, comme l’HIMALAYA ?

But aren't there also mountains on earth that are being formed, such as the HIMALAYAS?

Men finns det inga fjäll i bildning som HIMALAYA på Jorden?

_____________________________________________________________________

Himalaya


Inde



Tibet

Himalaya


India



Tibet

Himalaya                                Indien                                      Tibet
_____________________________________________________________________

Effectivement, on dit que la « plaque indienne », en télescopant le Tibet, a créé ce relief.

Effectively yes, it is thought that the "Indian plate", by squashing Tibet, created the mountains.

Så är det, faktisk. Det sags att “den indiska plattan” genom att krocka med Tibet, har skapat denna landhöjd.

_____________________________________________________________________

Tout cela n’est que le résultat des courants convectifs qui animent le MAGMA et qui aident celui-ci à évacuer sa chaleur centrale, laquelle est entretenue par la désintégration de l’Uranium 253 primitif.

All that is just a result of convective currents which animate the MAGMA and help it release the heat of its centre, which is maintained by the disintegration of primitive Uranium 253

[N.d.T. 253 ou 235?]

Allt detta är bara ett resultat av konvektiva strömmar som driver MAGMA och som hjälper den att 
_____________________________________________________________________

_____________________________________________________________________

Tu veux dire qu’il y a des cellules convectives dans le magma ?

You mean there are convective cells in the magma?

Menar du att det finns konvektiva celler i magman?
_____________________________________________________________________

Bien sûr, et ces mouvements du magma tirent sur la croûte terrestre, qui se fracture et cela crée par exemple un volcanisme de type hawaïen.

Of course, and the magma movements pull on the earth's crust which fractures and creates something like a Hawaian type volcanism.

Naturligtvis, och dessa rörelser av magman drar på jordens skorpa som bryter och detta skapar till ex en vulkanism av hawaityp. 

_____________________________________________________________________

_____________________________________________________________________

Océan pacifique

Ile d’Hawaï


« Point chaud »

Pacific Ocean


Island of Hawaii

"Hot point"

Stilla havet                             Hawaiön                                  “Het punkt”

_____________________________________________________________________

Etirement de la croûte


Montée de magma chaud

Stretching of the crust


Ascent of hot magma

Sträckning av skorpan                                    Uppstigning av het magma

_____________________________________________________________________
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Hum, bien sûr, quand on tire sur des croûtes, on arrive jamais à cicatriser.

Of course if you pull on crusts you can never stick them back together again

[N.d.T jeu de mots sur croûtes impossible à traduire directement car 'scab' en anglais pour les croûtes d'une blessure sur le corps, 'crust' pour la croûte terrestre.]

Hm, naturligtvis, när man drar av skorpor, ärras det aldrig.

_____________________________________________________________________

Nous vivons sur l’écume d’une marmite à trois dimensions que l’on appelle Terre.

We're surfing on a three dimensional stewpot that we call Earth.

Vi lever på skummen på en gryta i tre dimensioner som heter Jorden

_____________________________________________________________________

Quoi !?!

What!?!

Vad ?

_____________________________________________________________________

Attends… tout cela est bien beau, mais qui a fabriqué l’Uranium ?

Hang on…that's all very nice but where does the Uranium come from?

Vänta... allt detta är snyggt, men vem har tillverkat Uranium?

_____________________________________________________________________

Une étoile, lors de sa fin explosive, lorsqu’elle se transforme en SUPERNOVA (*).

A star, at the time of its explosive end, when it was transformed into a SUPERNOVA (*)

En stjärna, vid sitt explosiva slut, när den förvandlas till en SUPERNOVA (*)

_____________________________________________________________________

Les étoiles sont aussi le siège de puissants courants convectifs, qui transportent vers la périphérie la chaleur créée au centre par la fusion de l’hydrogène.

There are also powerful convective currents in the stars that carry the heat created by the fusion of hydrogen at their centre towards the periphery.

Stjärnorna är också ett säte för kraftiga konvektiva strömmar, som transporterar till periferin värmet skapat i centrum genom fusion av väte.

_____________________________________________________________________

Etoile



Chaudière Centrale

Star



Main Boiler

Stjärna                                    Central värmepanna 

____________________________________________________________________

La casserole, la Terre, l’étoile solaire, fonctionnent à l’aide d’un réseau de CELLULES DISSIPATIVES.

The saucepan, Earth, the solar star, all function with the help of DISSIPATING CELLS.

Kastrullen, Jorden, solstjärnan, fungerar med hjälp av ett nät av DISSIPATIVA CELLER.
_____________________________________________________________________

(*) Voir « Mille Milliard de Soleils » (Editions Belin).

(*) See "A Thousand Billion Suns" 

(*) Se “Tusen miljarder solar”

_____________________________________________________________________
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MORPHOGENESE
MORPHOGENESIS

MORFOGENES
_____________________________________________________________________

Anselme, ces objets étaient dans une boite que l’on a secouée. Peux tu classer chronologiquement ces deux clichés du contenu ?

Archibald, these objects were in a box that we shook. Can you class the two orders of content chronologically?

Anselme, dessa object var i en låda som man skakade. Kan du klassificera kronologiskt dessa två tryckplattor av innehållet?

_____________________________________________________________________

Je suppose qu’ils sont dans l’ordre. En secouant, on a du disloquer les structures constituées de deux ou trois éléments…

Well I suppose they are in order. When they were shaken the structures of two or three elements would have been dislocated.

Jag tror att de ligger i ordning. Med skakningar har vi troligen brutit upp  strukturerna bestående av två eller tre element..
_____________________________________________________________________

Qu’est-ce que tu fais ?

What are you doing?

Vad gör du?

_____________________________________________________________________

Il parait que je me suis encore planté. Alors, la seule solution c’est le retour à l’expérience.

It seems I mucked it up again. The only solution is a return to experiment.

Det verkar att jag körde fast igen. Den enda lösningen är då att återvända till experimentet.

_____________________________________________________________________

MATERIEL :


Baguette de bois


Au moins 20 éléments

MATERIAL:


Wooden stick



At least 20 elements

MATERIEL:                           Träpinne                                            Åtminstone 20 element

_____________________________________________________________________
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Je secoue ?

I shake them.

Ska jag skaka om dem?

_____________________________________________________________________

Ca alors ! Anselme a beau multiplié les essaies, à chaque fois on tombe sur des assemblages de 2, voire de 3 éléments !

Well there's a thing! Despite several tries, Archibald always ends up with an assembly of two, or three elements

Det var som tusan! Ansemle dubblar förgäves försök; varje gång får man uppsättningar på 2, även 3 element!

_____________________________________________________________________

Cela signifie simplement que, pour ce système particulier, c’est la configuration LA PLUS PROBABLE.

That simply means  that for this particular system, it is the MOST PROBABLE configuration.

Detta betyder helt enkelt, att för detta enskilda system är det DEN MEST SANNOLIKA konfigurationen.

_____________________________________________________________________

Par contre, impossible de créer une chaîne avec 5 éléments mis bout à bout.

However it's impossible to create a chain of five elements end to end.

Däremot är det omöjligt att skapa en följd med 2 element tillsammans.

_____________________________________________________________________

Et si j’introduis cette structure dans la boite, en secouant, elle disparaît !!!

And if I introduce such a structure into the box, it disappears when I shake it!!!

Och om jag för in denna struktur i lådan och skakar den, försvinner den!

_____________________________________________________________________

Si tu n’arrives pas à synthétiser ce « polymère mécanique », c’est qu’il est tout simplement très improbable.

If you can't synthesise this 'mechanical polymer" it's simply because it's very improbable.

Om du inte lyckas att framställa denna “mekaniska polymer”, så är det därför att den helt enkelt är mycket osannolik.

_____________________________________________________________________
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Tu sais, la Nature est ainsi faite que lorsqu’une chose, à un instant donné, est HAUTEMENT PROBABLE elle se produira immanquablement.

You know, Nature is made in such a way that when something, at a given instant, is HIGHLY PROBABLE it will inevitably happen

Du vet att nature är skapad så att när vid en viss tidpunkt är en sak MYCKET SANNOLIK, kommer den oundvikligen att inträffa.
_____________________________________________________________________

Et je suppose qu’à l’inverse, si une chose est très improbable, elle ne se produira pas.

And I suppose that conversely, if something is very improbable it won't happen.

_____________________________________________________________________

Et quand une chose a une chance extrêmement faible de se produire durant toute la durée de vie de l’Univers, on la considèrera comme IMPOSSIBLE. Vu…

And when something has an extremely small chance of happening during the lifetime of the Universe, we can consider it IMPOSSIBLE. 

Och när en sak har en väldigt liten möjlighet att hända under hela universums livdstid, betraktas den som OSANNOLIK.
_____________________________________________________________________

La formation de l’hélium, au cours du BIG BANG était extrêmement probable. Donc l’Univers en contient !

The formation of helium at the moment of the BIG BANG was extremely probable. So it exists in the Universe!

Bildandet av helium under BIG BANG var oerhört sannolikt. Den finns alltså i Universum!

_____________________________________________________________________

Par contre, du fait de l’extrême dilution du milieu galactique, on a calculé que le soleil avait une chance sur dix millions de rencontrer une autre étoile au cours des dix milliards d’années à venir.

However, because of the extreme dilution in the galactic ether, we have calculated that the sun has just one chance in ten million of meeting another star during the next ten thousand million years.

Med tanke på en mycket hög utspädning av den galaktiska omgivningen, har vi i stället räknat ut att solen hade en chans på tio miljoner att stötta ihop med en annan stjärna under kommande tio miljarder år.

_____________________________________________________________________

On considèrera donc cet EVENEMENT comme une IMPOSSIBILITE. 

We therefore consider this EVENT to be an IMPOSSIBILITY.

Vi ska betrakta alltså denna HÄNDELSE som en OSANNOLIKHET
_____________________________________________________________________

Compris…

Understood…

Förstått...

_____________________________________________________________________
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La vapeur d’eau, le méthane, l’ammoniac, l’hydrogène, sont des molécules très simples, très symétriques, comparables à tes assemblages de tout à l’heure.

Water vapour, methane, ammoniacand hydrogen are all simple molecules, very symmetrical and comparible with the assemblies we had earlier

Vattenånga, metan, ammoniak, väte är mycket enkla molekuler, mycket symmetriska, som liknar dina uppsättningar som du nyligen gjort.

_____________________________________________________________________

Eau

Méthane


Ammoniac

Water

Methane


Ammoniac

Vatten              Metan                                    Ammoniak

_____________________________________________________________________

Elles furent donc présentes dans l’atmosphère primitive de notre planète.

They were present therefore in the primitive atmosphere of our planet

De var alltså närvarande i den primitiva atmosfären i vår planet 
_____________________________________________________________________

En 1950, Miller, jeune étudiant, eut l’idée d’introduire ces éléments dans un enceinte et de les « secouer » en utilisant une simple décharge électrique.

In 1950 a young student, Miller, decided to introduce these elements into a container and "shake" them by means of a simple electric discharge.

År 1950 fick Miller, en ung student, en idée att införa dessa element i ett slutet rum och “skaka” dem med en användning av en enkel elstött. 

_____________________________________________________________________

Décharge
Condenseur

Mélange
Evaporateur

Résistance électrique

Discharge
Condenser

Mix

Evaporator

Electric resistance

Elstött              Kondensor                  Blandning       Evaporator                 Elektrisk resistans

_____________________________________________________________________

Au bout d’une semaine, ce mélange incolore était devenu orange, à cause de la présence d’acides aminés, molécules constituées d’une quinzaine d’atomes.

A week later the mix, colourless, had turned orange because of the presence of amino-acids, molecules made up of about 15 atoms.

Efter en vecka blev denna färglösa blandning orange, på grund av förekomsten av aminosyror, molekulerna bestående av femton atomer.

_____________________________________________________________________

Ces molécules étant à leur tour les éléments constitutifs des PROTEINES, on commença à se faire à l’idée que la VIE devrait être un phénomène non seulement probable, mais peut être même INEVITABLE sur une planète comme la Terre.

As in their turn these molecules are elements in the constitution of PROTEINS, we began to get used to the idea that LIFE must be not only a probable phenomenon but may even be INEVITABLE on a planet like Earth.

Eftersom dessa molekuler bestod av PROTEINER, börjar man vänja sig vid tanken att LIVET inte bara borde vara en sannolik företeelse, utan kanske även OUNDVIKLIG på planeten Jord.
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________
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NEGENTROPIE ?
NEGENTROPY?

NEGENTROPI ?
_____________________________________________________________________

Bon, récapitulons. Il y a des systèmes qui tendent tout simplement vers le DESORDRE. Puis il y a ceux qui secrètent des STRUCTURES DISSIPATIVES, mais qui, au bout du compte, parviennent au même résultat.

Right, ket's recapitulate. There are systems which simply tend towards DISORDER. Then there are those which secrete DISSIPATING STRUCTURES but which, at the end of the day, arrive at the same result.

Nåväl, nu sammanfattar vi. Det finns system som helt enkelt går mot OORDNINGEN. Sen finns det de som utsöndrar DISSIPATIVA STRUKTURER, men som i slutändan kommer till samma resultat.
_____________________________________________________________________

_____________________________________________________________________

Et puis il y a les systèmes qui tendent vers l’ORDRE, qui font diminuer l’entropie. Ils sont alors NEGENTROPIQUES…

And then there are systems that tend towards ORDER, which will reduce entropy. They are therefore NEGENTROPIC…

Ochs en finns det system som går mot ORDNINGEN som får entropin att minska. De är alltså NEGENTROPISKA.
_____________________________________________________________________

… Comme ce jeu, ou le jeu de la VIE.

…like this game, or the game of LIFE

....Som denna lek eller leken av LIVET
_____________________________________________________________________

Comme tu y vas ! Et comment as-tu fait pour produire l’énergie grâce à laquelle tu as secoué la boîte, ou fourni l’étincelle qui a provoqué les synthèses moléculaires ?

Apparently! And how did you produce the energy used to shake up the container, or create the spark needed to start molecular syntheses

Som du har bråttom! Och hur har du gjort för att producer energin tack vare vilken du skakade lådan eller skaffade gnistan som orsakade den molekulära syntesen? 

_____________________________________________________________________

Comme ça ?

Like that?

Så här ?

_____________________________________________________________________
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Il a bien fallu brûler du pétrole, laisser de l’eau descendre le long d’une conduite ou « brûler » quelques molécules de sucre…

We had to burn some petrol and allow water to descend through a tube, or "burn" a few molecules of sugar…

Man fick bränna olja, låta vatten gå ner utmed ett rör eller “bränna” några sockermolekuler

_____________________________________________________________________

Et la VIE, crois-tu qu’elle est gratuite ? Qu’est-ce qui fait pousser les arbres, mûrir les pommes ?

And do you think that LIFE is free? What makes trees grow, apples ripen?

Och LIVET? Tror du att det är gratis? Vad får växa träden, mogna äpplen?
_____________________________________________________________________

Euh…

Eh…

Euh...

_____________________________________________________________________

C’est … le soleil qui fournit l’énergie. C’est lui le MOTEUR DE LA VIE.
It's the Sun that supplies the energy. That's the motor of life.

Det är... solen som levererar energin. Det är den som är LIVETS MOTOR
_____________________________________________________________________

Très bien, Tirésias.

Very good Tiresias.

Mycket bra, Tiresias.

_____________________________________________________________________

C’est vrai. Il faut considérer l’ENSEMBLE DU SYSTEME, c'est-à-dire la BIOSPHERE, son support, le BIOTOPE, plus la source d’énergie, le soleil. Et alors l’entropie globale de ce système croît.

It's true. We have to consider the ENSEMBLE OF THE SYSTEM, that is to say the BIOSPHERE, its support, the BIOTOPE, plus the energy source. Then there can be a global increase in the entropy system.

Det är sant. Man måste tänka på HELA SYSTEMET, det vill saga BIOSFÄREN, sitt medium BIOTOPPEN, och förresten energikällan – Solen. Och då ökar systemets globala entropi.
_____________________________________________________________________

_____________________________________________________________________

Mais le soleil n’est pas toujours la source d’énergie du monde du vivant.

But the sun isn't always the source of energy for life.

Men solen är inte alltid energikällan för den levande världen.

_____________________________________________________________________

La vie, dans les fosses océaniques, fonctionne grâce à l’énergie des sources d’eau chaude sous-marines.

Life, in the depths of the ocean, uses the energy of submarine hot water sources.

Livet i djuphavsgravarna fungerar tack vare energin i varma undervattenskällor

_____________________________________________________________________
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Peu importe (*).

It doesn't matter (*).

Det spelar ingen roll (*)
_____________________________________________________________________

Fichtre, est-ce que la VIE ne serait qu’une cellule dissipative de plus ?

Blow, so LIFE is just another dissipating cell?

Tusan, skulle LIVET vara bara ännu en dissipative cell?
_____________________________________________________________________

Mais enfin, quand même, la finalité du vivant n’est pas QUE de dissiper de l’énergie.

No, seriously, the finality of living things is not JUST to dissipate energy.


Men när allting kommer omkring, är meningen med livet inte bara att sprida energi?

_____________________________________________________________________

Pour tout te dire, on n’a pas encore de réponse claire à cette question là.

In fact though, we don't yet have a clear reply to that question.

Med ett ord, har man inte än ett klart svar i denna fråga.

_____________________________________________________________________

BOMBE H
H BOMB

H BOMB
_____________________________________________________________________

ENTROPIE

ENTROPY

ENTROPI
_____________________________________________________________________

Entropie, temps, probabilité, tout cela se mélanger un peu dans ma tête.

Entropy, time, probablility, it's all getting mixed up in my head.

Entropi, tid, sannolikhet, - allt detta blandar ihop sig i mitt huvud

_____________________________________________________________________

Peut-être qu’en retournant aux origines de l’Univers quand TOUT A COMMENCE.

Maybe taking it back to the origin of the Universe when EVERYTHING BEGAN.

Kanske när man återvänder till början av Universum, då ALLTING BÖRJADE
_____________________________________________________________________

TOUT cela n’a AUCUN SENS.

NONE of that makes ANY SENSE

ALLT det här har INGEN MENING
_____________________________________________________________________

(*) On trouvera tout cela dans le BIOLOGICON.
(*) This is all explained in the BIOLOGICON.

(*) Allt detta finns på BIOLOGICON
_____________________________________________________________________
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La vie, les planètes, les étoiles, tout ceci est trop compliqué ! Est-ce qu’il n’y a pas eu dans le passé une époque où l’Univers était plus simple à comprendre ?

Life, planets, the stars, it's all too complicated! Wasn't there any time in the past when the Universe was easier to understand?

Livet, planeterna, stjärnorna – allt detta är för komplicerat! Har det inte funnits en tid i det förflutna, då Universum var enklare att förstå?

_____________________________________________________________________

_____________________________________________________________________

Consultons l’histoire de l’Univers telle que l’ont écrite les hommes.

Let's look at the history of the Universe as written down by mankind.

Nu ska vi titta på Universums historia skriven av människorna.

_____________________________________________________________________

GRAND LIVRE DE L’UNIVERS

THE BIG BOOK OF THE UNIVERSE

DEN STORA UNIVERSUMS BOK

_____________________________________________________________________

Voyons… t = cent millions d’années. Voilà qui correspond à la naissance des galaxies. Non… c’est encore trop compliqué…

Let's see…t = one hundred million years. That corrresponds to the birth of galaxies. No…it's still too complicated

Nu ska vi se... t = ett hundra miljoner år. Det är det som mosvarar födelsen av stjärnsystem. Nej… det är fortfarande för krångligt.
_____________________________________________________________________

Essayons t = 100 000 ans

Let's try t = 100,000 years

Vi försöker t = 100 000 år
_____________________________________________________________________

Ça alors !?! L’Univers est alors parfaitement homogène ! (*)

Goodness!?! Then the Universe is perfectly homogenous! (*)

Det var som tusan ! Universum är perfekt homogen! (*)
_____________________________________________________________________

(*) Voir « Mille Milliards de Soleils » (Edition Belin).

(*) See "A Thousand Billion Suns"

(*) Se “Tusen miljarder Solar”

_____________________________________________________________________
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Comment un Univers parfaitement homogène peut-il évoluer, puisqu’il ne s’y passe RIEN ?

How can a perfectly homogenous Universe evolve, seeing as NOTHING happens?

Hur kan ett fullständigt homogen Universum utvecklas, om INGENTING händer?

_____________________________________________________________________

Les populations homogènes n’ont pas d’histoire

Homogenoous populations don't have history.

Homogen befolkning har ingen historia.

_____________________________________________________________________

Comment le temps peut-il écouler puisqu’il n’y a plus la moindre tendance vers le désordre, nulle part, vu que ce désordre est MAXIMAL !

How can time pass when there isn't the slightest tendancy towards disorder, nowhere, given that this disorder is at its MAXIMUM!

Hur kan tiden förflytta eftersom det inte finns den minsta tendens för oordning, ingenstans, med tanke på att denna oordning är MAXIMAL!

_____________________________________________________________________

Attends, il se passe bien quelque chose puisque cet Univers SE REFROIDIT.
Wait, there is something happening in fact because the Universe is COOLING DOWN.

Vänta, någonting håller på att hända eftersom Universum SVALNAR
_____________________________________________________________________

Pour décrire totalement un système de particules à un instant donné, il n’y a pas que la donnée de leurs positions, il y a aussi celle de leurs vitesses.

You need more than data on their positions to completely describe a system of particles at a given moment, you also need their velocities.

För att fullkomligt beskriva ett system av partiklar vid en given tidpunkt, finns endast uppgifter om deras positioner, och även om deras hastigheter.

_____________________________________________________________________

Eh oui, la VITESSE est aussi une INFORMATION.

Yes, for VELOCITY is also INFORMATION.

Ja, HASTIGHETEN är också en UPPGIFT
_____________________________________________________________________
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Au lieu de mettre ces flèches on peut représenter les particules dans deux espaces à 3 dimensions : L’ESPACE DES POSITIONS et L’ESPACE DES VITESSES.

Instead of using arrows we can represent particles in two spaces of three dimensions: POSITION SPACE and VELOCITY SPACE;

I stället för att lägga dessa pilar, kan man framställa partiklarna i två rymd på 3 dimensioner: POSITIONSRYMD och HASTIGHETSRUM
_____________________________________________________________________

POSITION


VITESSE
POSITION


VELOCITY

POSITION                            HASTIGHET
_____________________________________________________________________

Cette description complète à l’aide de ces six coordonnées peut être associée à un espace à 6 dimensions dit ESPACE DES PHASES.

This complete description using six coordinates can be associated with a space of six dimensions called PHASE SPACE.

Denna fullständiga beskrivning kan med hjälp av dessa sex koordinater associeras med en rymd på 6 dimensioner, sistnämnda FASRUM
____________________________________________________________________

Simplifions la situation à l’extrême. Considérons un univers à une seule dimension d’espace (une simple droite) où deux objets ponctuels, censés représenter des particules de charges opposées s’attirent mutuellement.

Let us simplify the situation to the extreme. Let's consider a universe with just one dimension in space (a simple line) where two punctual objects, supposed to represent particles with opposing charges, are mutually attracted.

Vi ska förenkla situationen till det yttersta. Vi ska tänka oss ett universum med en enda rymddimension (en enkel höger), där två punktobjekt ska representera partiklar med motsatt laddning som dras till varandra.

_____________________________________________________________________

_____________________________________________________________________

Mais comment vont-elles faire pour pouvoir se croiser ?

But how will they manage to meet each other?

Men hur ska de göra för att kunna träffas?

_____________________________________________________________________

29 

Juste ! On n’aura qu’à charger positivement une petite bille courant dans un tube et négativement un anneau, pour lequel le tube servira également de guide.

Good question! We just have to positively charge a small ball moving in a tube and negatively charge a ring, for which the tube will also serve as a guide.

Precis! Vi behöver bara ladda positivt en liten kula som ska rulla i ett rör och negatift – en ring, för vilken röret ska också tjäna som en vägledning.

_____________________________________________________________________

Si on représente ce système dans un ESPACE DES PHASES (x, u) où x est la coordonnée de POSITION et u est la coordonnée VITESSE, en donnant aux particules une vitesse initiale nulle, on obtient le schéma ci-dessus.

If we represent this system in a PHASE SPACE (x,u) where x is the coordinate of POSITION and u the coordinate VELOCITY, and with the particles given an initial speed of zero, we get the following schema.

Om vi framställer detta system i FASRUM (x, u) där x är POSITIONSkoordinat och u är HASTIGHETSkoordinat, och ger åt partiklarna en utgångshastighet lika med noll, får vi schemat här ovan.

_____________________________________________________________________

_____________________________________________________________________

Les particules, qui s’attirent, commencent à tomber l’une vers l’autre.

Particles which are attracted begin to fall towards each other.

Partiklarna som dras till varandra, börjar falla den ene mot den andra.
_____________________________________________________________________

Ici elles se croisent à vitesse maximale.

Here they meet at maximum speed.

Här möts de i maximala hastighet.

_____________________________________________________________________
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Le mouvement de va-et-vient, l’oscillation des charges autour de leur centre de gravité commun donnera, dans l’espace des phases, des trajectoires de type elliptique.

The to-and-fro movement, the oscillation of charges around their common centre of gravity will give elliptical trajectories in the phase space.

Rörelsen fram och tillbaka, svängningen av laddningarna kring deras gemensamma tyngdpunk kommer att ge i fasrummet banor av elliptisk typ.

_____________________________________________________________________

Ce schéma décrit deux ensembles de particules situées à une certaine distance, à vitesse globalement nulle (elles sont tout près de l’axe OX), mais présentant des vitesses aléatoires d’AGITATION THERMIQUE.

The schema describes two particle ensembles situated at a certain distance, with a globally zero speed (they are very close to the axis OX) but presenting random THERMIC AGITATION velocities.

Schemat beskriver två uppsättningar av partiklar som ligger på ett visst avstånd, med hastighet i stort sett lika med noll (de ligger alldeles nära OX-axeln), men uppvisar slumpmässiga hastigheter av TERMISK ENERGI.
_____________________________________________________________________

Ces ensembles vont « tomber » l’un vers l’autre, sous l’effet de leur attraction mutuelle.

These ensembles will "fall" towards each other under the effect of mutual attraction.

Dessa uppsättningar kommer att “falla” mot varandra till följd av deras ömsesidiga dragning.

_____________________________________________________________________
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Techniquement on pourrait permettre aux particules de se croiser sans se télescoper en les logeant dans des tubes extrêmement fins.

Technically we could allow particles to cross each other without telescoping into each other by putting them in extremely thin tubes.

Tekniskt sett kunde man tillåta partiklarna att mötas utan att kollidera genom att lägga dem in i mycket fina rör.

_____________________________________________________________________

« température »


« diamètre »

"Temperature"


"Diameter"

« temperatur »                                    « diameter »

_____________________________________________________________________

Les deux nuages s’amalgament en un nuage unique. L’ÉNERGIE CINÉTIQUE acquise se redistribue aléatoirement et le résultat est un « échauffement », un étalement selon la dimension vitesse u. Globalement la surface occupée par toutes ces particules aura augmentée. Or cette surface EST précisément L’ENTROPIE.

The two clouds will amalgamate into one, unique cloud. The acquired KINETIC ENERGY is randomly redistributed and the result is "heating", a spreading according to the dimension velocity u. the surface occupied by all these particles will increase globally. But this surface IS, precisely, ENTROPY.

Två moln smältar ihop till ett enda moln. DEN förvärvade KINETISKA ENERGIN omfördelas slumpmässigt och resultatet blir en “uppvärming”, en fördelning, ett utbredande engligt dimensionen hastighet u. Sammantaget blir ytan upptagna av alla dessa partiklar större. Just denna yta ÄR ENTROPI.
_____________________________________________________________________

_____________________________________________________________________

Le système va osciller, le mouvement d’EXPANSION étant synonyme de diminution de la vitesse (d’agitation thermique), de la TEMPERATURE. Processus inverse lors de la contraction.

The system will oscillate, EXPANSION being synonymous with a reduction in speed (of thermal agitation), and of TEMPERATURE. The process inverse takes place during contraction

Systemet kommer att svänga, UTVIGDNINGSrörelsen som är synonym av hastighetens avtagande (termisk energi), av TEMPERATUREN. Omvänd process vid kontraktionen.
_____________________________________________________________________

_____________________________________________________________________

Refroidissement

Chauffage

Phase d’expansion

Contraction

Cooling


Heating

Expansion phase

Contraction

Avkylning                              Uppvärmning              Utvidgningsfas                       Kontraktion

_____________________________________________________________________

On dirait une bulle de savon à deux dimensions.

It looks like a two-dimensional soap bubble.

Liknar en tvålbubbla på två dimensioner.

_____________________________________________________________________

Mais alors les oscillations de cette étrange amibe, habitante de l’ESPACE DES PHASES, se feront à aire constante, à ENTROPIE CONSTANTE (*).

But then the oscillation of this strange amoeba, an inhabitant of a PHASE SPACE, will happen with a constant area, a CONSTANT ENTROPY (*)

Men svängningarna av denna konstiga amöba som bor i FASRUMMET, kommer att befinna sig på en constant planyta, en KONSTANT ENTROPI (*)
_____________________________________________________________________

(*) Dans l’exemple choisi les particules ne se rencontrent pas.

(*) In the chosen example particles do not meet.

(*) I det givna exemplet korsas partiklarna inte.

_____________________________________________________________________
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PREMIER PARADOXE COSMOLOGIQUE
FIRST COSMOLOGICAL PARADOX

FÖRSTA KOSMOLOGISKA PARADOX
_____________________________________________________________________

Et l’Univers dans tout cela ?

But what about the Universe in all that?

Och hur blir det med Universum i allt det här?

_____________________________________________________________________

Et Dieu dans tout cela ?

And God in all that?

Och med Gud?

_____________________________________________________________________

Enfin, Tirésias ! Ne trouvez-vous pas que la situation n’est pas déjà assez embrouillée ?

Come on Tiresias! Don't you think that the situation is already confused enough?

Äntligen, Tiresias! Tycker du inte att situationen redan är ganska krånglig?

_____________________________________________________________________

L’Univers est une espèce d’amibe à 6 dimensions (*).

The Universe is a sort of amoeba with six dimensions (*).

Universum är ett slag amöba på 6 dimensioner (*).

_____________________________________________________________________

J’avoue que je ne vois pas très bien…

I admit that I don't see too well.

Jag tillstår att jag inte riktigt förstår

_____________________________________________________________________

(*) Voir le Géométricon (Edition Belin). 

(*) See The Geometricon.

(*) Se Geometricon

_____________________________________________________________________
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Pour se représenter cet ESPACE DES PHASES à 6 dimensions (3 pour la position et 3 pour la vitesse), il suffit de « déplier » celui-ci selon deux représentations tridimensionnelles.

To represent this six dimensional PHASE SPACE (3 for position and 3 for velocity), you just have to 'unfold' it according to two three dimensional representations.

För att framställa detta FASRUM på 6 dimensioner (3 för positionen och 3 för hastigheten), räcker att “veckla upp” den engligt två tredimensionnella framställningar.
_____________________________________________________________________

_____________________________________________________________________

Espace des positions



Espace des vitesses

Position space




Velocity space

Positionsrum                                                  Hastighetsrum

_____________________________________________________________________

Dans l’ESPACE DES POSITIONS l’Univers se dilue et cette dispersion est synonyme de DESORDRE. Inversement les vitesses d’agitation diminuent. Dans sa représentation dans l’ESPACE DES VITESSES l’Univers au contraire se condense, ce qui traduit une tendance vers l’ORDRE.

In POSITION SPACE the Universe is diluted and this dispersal is synonymous with DISORDER. Inversely, agitation speed diminishes. However in its representation in VELOCITY SPACE, the Universe condenses, which translates as a tendancy towards ORDER.

I POSITIONSRUM försvagas Universum och denna dispersion är ett synonym av OORDNING. Omvänt minskar Browns rörelse. Däremot kondenseras Universum i sin framställning i HASTIGHETSRUM, som förklarar en tendens mot ORDNINGEN. 
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Evolution du cosmos dans l’espace des positions

Evolution of the cosmos in position space.

Utvecklingen av kosmos i positionsrum.

_____________________________________________________________________

Evolution du cosmos dans l’espace des vitesses

Evolution of the cosmos in velocity space.

Utvecklingen av kosmos i hastighetsrum

_____________________________________________________________________

Globalement dans cette représentation à 6 dimensions (*) la STRUCTURE D’ORDRE de l’Univers reste invariante. L’ENTROPIE qui est son HYPERVOLUME, ou produit de son volume dans l’espace des positions par son volume dans l’espace des phases ne varie pas (*).

Globally, in this six dimensional representation (*) the Universe's ORDER STRUCTURE remains invariant. ENTROPY, which is its HYPERVOLUME, or the product of its volume in position space by its volume in phase space, does not vary (*)

Totalt förblir Universums STRUKTUR AV ORDNING oföränderlig i denna framställning på 6 dimensioner (*). ENTROPIN är HYPERVOLUME av denne, eller en produkt av dess volym i positionsrymden av sin volym i fasrum som inte ändrar sig.
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Autrement dit, dans sa représentation à 6 dimensions le cosmos est un fluide incompressible !

In other words, in its six dimensional representation the cosmos is an incompressible fluid.

Med andra ord, i sin representation på 6 dimensioner, är rymden en kall vätska!
_____________________________________________________________________

(*) Théorème de LIOUVILLE, mathématicien français (1802-1882).

(*) LIOUVILLE's theorem, French mathematician (1802-1882).

(*) LIOUVILLES sats, en franska matematiker (1802-1882).

_____________________________________________________________________
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Autrement dit, il se dilate du côté POSITIONS alors qu’il maigrit du côté VITESSES.
In other words, it dilates on the POSITION side but gets thinner on the VELOCITY side.

Med andra ord, den utvidgas på POSITIONS sida, medan den tunnas på HASTIGHETS sida. 
_____________________________________________________________________

Espace des positions


Espace des vitesses

Position space



Velocity space

Positionsrymd



Hastighetsrum

_____________________________________________________________________

Mais attends voir, comme le SECOND PRINCIPE dit aussi que L’ENTROPIE CROIT AVEC LE TEMPS, comment peut-il y avoir une EVOLUTION DU COSLIS A ENTROPIE CONSTANTE ?
But let's see, as the SECOND PRINCIPLE also states that ENTROPY INCREASES WITH TIME, how can there be an EVOLUTION FROM COSLIS [?] TO CONSTANT ENTROPY?

Men vänta och se som den ANDRE PRINCIPEN också säger att ENTROPIN ÖKAR MED TIDEN, hur kan det finnas en EVOLUTION AV KOSMOS MED EN KONSTANT ENTROPI?
_____________________________________________________________________

_____________________________________________________________________

Effectivement ce paradoxe est une des faiblesses des modèles cosmologiques classiques.

In effect this paradox is one of the weaknesses of classic cosmological models.

I själva verket är denna paradox en av svaga sidor av de klassiska kosmologiska modellerna.

_____________________________________________________________________

C’est du plus haut cosmique, Hi ! Hi !

It's the cosmic summit, ha! ha!

Det är den högsta kosmiska punkten, ha! Ha!

_____________________________________________________________________

Bref, ça n’est pas parce qu’un modèle découle de calculs très savants, comme le MODELE COSMOLOGIQUE STANDARD qu’il est automatiquement cohérent.

In short, just because a model is developed from very scholarly calculations, like the STANDARD COSMOLOGICAL MODEL, that doesn't mean it is automatically coherent.

Kort sagt, det är inte därför att en model bygger på mycket lärda beräkningar, som KOSMOLOGISKA STANDARDMODELLEN, automatiskt sammanhängande.
_____________________________________________________________________

_____________________________________________________________________
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Mais, est-ce que la Science n’a pas un élément de réponse à apporter, un bout de théorie, n’importe quoi ?

But doesn't Science have a partial response, a bit of a theory? Anything in fact?

Men har inte vetenskapen ett svar att ge, en teori, vad som helst?

_____________________________________________________________________

Hélas ces immenses plaines temporelles parcourues à entropie constante sont une des faiblesses de notre vision de l’Univers. 

Alas the immense temporal plains covered by constant entropy is one of the weaknesses of our vision of the Universe.

Tyvärr är dessa väldiga tidsslätter avverkade av den konstanta entropin en av svagpunkterna i vår universumsvision. 
_____________________________________________________________________

Alors le temps avance et on ne sait pas pourquoi. C’est un monde !

So time advances and we don't know why. There's a thing!

Tiden går alltså och vi vet inte varför. Det är inte klokt!
_____________________________________________________________________

Et on ne me disait rien.

And no-one mentioned it to me.

Och man sa ingenting till mig.

____________________________________________________________________

Je ne connaissais pas on plus ce paradoxe. Il est vrai que ce sont des choses que les scientifiques ne crient pas sur tous les toits.

I wasn't aware of this paradox either. It's true that scientists don't shout it from the rooftoops.

Förresten kände jag inte till denna paradox. Det är sant att detta är saker som forskarna inte ropar upp från taken.

_____________________________________________________________________

Quand même… Ça la fout mal.

All the same…it hurts.

Men ändå... Det ser jävligt illa ut.

_____________________________________________________________________

De plus, non seulement cette ENTROPIE se conserve au fil du temps, mais elle est de plus MAXIMALE, le DESORDRE était à son comble lors du BIG BANG.

As well as that, not only is this ENTROPY conserved with the passing of time, but it is also at MAXIMUM, DISORDER being at its highest point at the time of the BIG BANG.

Förresten, inte nog med att denna ENTROPI håller sig genom tiden, men den är den mest MAXIMALA, OORDNINGEN var på sin höjd vid BIG BANG.
_____________________________________________________________________

_____________________________________________________________________
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SECOND PARADOXE COSMOLOGIQUE
SECOND COSMOLOGICAL PARADOX

DEN ANDRA KOSMOLOGISKA PARADOXEN
_____________________________________________________________________

Bon, ça n’est pas difficile, ce qui crée et entretient le désordre dans un système de particules, dans un FLUIDE comme ce FLUIDE COSMIQUE PROMORDIAL, ce sont les COLLISIONS. 

Well it isn't difficult, COLLISIONS are what create and maintain disorder in a particle system, in a FLUID such as the PRIMORDIAL COSMIC FLUID.

Nåja, det är inte svårt, det som skapar och upprätthåller oordningen i ett partikelsystem, i ett FLUIDUM som detta URSPRUNGLIGA KOSMISKA FLUIDUM, det är KOLLISIONER.
_____________________________________________________________________

_____________________________________________________________________

Oui, c’est clair : l’Univers primitif devait être fortement COLLISIONNEL.

Yes it's clear: the primitive Universe must have been very COLLISIONAL.

Ja, det är klart: det primivita universumet skulle vara mycket KOLLISIONISKT.
_____________________________________________________________________

D’où ce DESORDRE ORIGINEL créé et entretenu, que l’on observe encore actuellement (*).

From whence comes the ORIGINAL DISORDER created and maintained that we observe still (*)

Därav är denna  skapade och upprätthållna URSPRUNGLIGA OORDNING, som vi iakttar ännu idag (*).
_____________________________________________________________________

(*) L’Univers est effectivement extrêmement HOMOGENE dans toutes les directions de l’espace.

(*) In effect the Universe is extremely HOMOGENOUS in all directions of space.

(*) Universumet är verkligen oerhört HOMOGEN i rymdens alla håll. 
_____________________________________________________________________
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Malheureusement on trouve exactement l’INVERSE : l’Univers primitif aurait du être parfaitement NON COLLISIONNEL.

Unfortunately we find the exact OPPOSITE: the primitive Universe would have been perfectly NON-COLLISIONAL.

Tyvärr hittar vi exakt det MOTSATTA: det primitive Universumet skulle ha varit absolute ICKE KOLLISIONISKT.

_____________________________________________________________________

Que veux-tu dire ?

What do you mean?

Vad menar du?

_____________________________________________________________________

Eh bien l’Univers primitif est un billard qui se dilate, mais il se dilate si vite que les particules ne peuvent même pas se rencontrer (*), même quand elles vont à la VITESSE DE LA LUMIERE.

Well, the primitive Universe is like a dilating billiard ball but it dilates so rapidly that particles can't even meet each other (*), even when they move at the SPEED OF LIGHT.

Nå, det primitive universumet är ett biljardbord som utvidgas, men det utvidgas så snabbt att partiklarna inte ens kan mötas (*), ens när de går i LJUS HASTIGHET.

_____________________________________________________________________

_____________________________________________________________________

Tu veux dire que dans l’Univers primitif les particules s’éloignent les unes des autres à une vitesse SUPERIEURE A LA VITESSE DE LA LUMIERE ! C’est absurde…

You mean that in this primitive Universe particles distance themselves form each other at a speed SUPERIOR TO THE SPEED OF LIGHT! That's absurd.

Du menar att i det primitiva Universumet avlägsnas partiklarna från varandra med en hastighet HÖGRE ÄN LJUSHASTIGHETEN! Detta är absurd. 
_____________________________________________________________________

_____________________________________________________________________

Je sais… 

I know…

Jag vet...

_____________________________________________________________________

Laisse, Tirésias, dans ces cas-là, il vaut mieux ne pas insister.

Let it go Tiresias, in such cases it is better not to insist.

Sluta, Tiresias, i detta fall är det bäst att inte insistera.

_____________________________________________________________________

(*) Voir Annexe B.

(*) See Annex B

(*) Se Bilaga B.

_____________________________________________________________________

_____________________________________________________________________
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Dieu a peut-être créé l’univers homogène, après tout, non ?

Maybe God created a homogenous universe.

Kanske skapade Gud det homogena universumet?

_____________________________________________________________________

_____________________________________________________________________

Hou là là , En Science, quand on commence à appeler Dieu à la rescousse, c’est que cela va vraiment mal ! ….

Hola, in science when you you bring God into the argument things are really going badly!…

Ojojoj, inom vetenskapen, när man börjar att kalla Guden till hjälp, då är det verkligen illa!...

_____________________________________________________________________

_____________________________________________________________________

C’est curieux. Dans ces bandes dessinées, jusqu’ici, tout se passait plutôt bien. Et ici tout semble aller de travers 

It's odd. In these comic books, up until now, everything has been going fine but here everything seems to be mixed up.

Det är konstigt. Hittills har allting gått bra i dessa serier. Och nu verkar allting gå fel.

_____________________________________________________________________

_____________________________________________________________________

Il semble indiqué d’aller fouiller carrément du côté de l’ORIGINE DE L’UNIVERS

It seems to point to a need to go digging into the ORIGIN OF THE UNIVERSE

Det verkar lämpligt att helt enkelt gå och gräva i UNIVERSUMETS UPPKOMST.
_____________________________________________________________________

_____________________________________________________________________

La clé du mystère se trouve peut-être là 

Maybe that's where the clue to the mystery is.

Gåtans nyckel är kanske där.

_____________________________________________________________________

_____________________________________________________________________

Il suffit de lire à rebours le GRAND LIVRE DE L’UNIVERS en essayant de remonter jusqu’à la première page

Tu veux dire la préface, là où l’auteur veut expliquer là où il veut en venir ? 

You just need to read the BIG BOOK OF THE UNIVERSE backwards and try to get to the first page.

You mean the Preface, there where the author explains where he wants to get to?

Det räcker att läsa bakvänt DET STORA UNIVERSUMSBOK och försöka gå upp ändå till första sidan.

Menar du förordet där författaren förklarar vart han vill komma?
_____________________________________________________________________

_____________________________________________________________________
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plus on remonte dans le passé et plus l’univers était chaud., donc plus les vitesse d’agitation des particules étaient élevées (*)

The more we go back into the past, the hotter the universe is, so the greater particles' agitation speeds are(*)

Ju mer går man tillbaka i tiden, desto varmare blir universumet. Således ökar Browns rörelse (*)

_____________________________________________________________________

_____________________________________________________________________

d’après le MODELE STANDARD avant le premier centième de seconde, toutes les particules allaient à une vitesse très proche de la vitesse de la lumière

Before the first hundredth of a second, according to the STANDARD MODEL, all particles moved a to a speed close to the speed of light.

Enligt STANDARDMODELLEN, före sekundens första hundradel, skulle alla partiklar gå i en hastighet mycket nära ljushastigheten.

_____________________________________________________________________

_____________________________________________________________________

dis-moi, selon la théorie de la RELATIVITE RESTREINTE, lorsqu’on s’approche de la vitesse de la lumière, le temps est altéré, non ? (**)

Tell me, according to the theory of SPECIAL RELATIVITY when the speed of light is approached, time is altered isn't it? (**)

Säg mig, enligt den SPECIELLA RELATIVITETSTEORIN, när man närmar sig ljushastigheten, förvrängs tiden? (**) 
_____________________________________________________________________

_____________________________________________________________________

le temps se met à « geler » comme le mercure dans les thermomètres

Time begins to "freeze" like the mercury in thermometers

Tiden börjar “frysa” som kvicksilver i thermometern. 

_____________________________________________________________________

_____________________________________________________________________

plus précisément, une particule cheminant à la vitesse de la lumière peut vivre une infinité d’événements dans un laps de temps …. Nul !

More precisely, a particle moving at the speed of light can go through an infinity of events in a lapse of time…zero!

Närmare bestämt, kan en partikel som går med ljushastighet leva genom oändligt många händelser i en tidrymd... Ingenting!

_____________________________________________________________________

_____________________________________________________________________

(*) La TEMPERATURE d’un gaz n’est autre que la mesure de l’énergie moyenne d’agitation thermique ½ mV2. Voir «  SI ON VOLAIT ? « , alias «  L’ASPIRISOUFFLE »

(*) The TEMPERATURE of a gas is nothing other than the measure of the average thermal energy agitation ½ mV2. See "AND IF WE FLEW?".

(*) TEMPERATUREN på en gas är inget annat än ett matt på den genomsnittliga energin av termisk energi ½ mV2. Se ”OCH OM MAN FLÖG?” alias  L’ASPIRISOUFFLE
_____________________________________________________________________

_____________________________________________________________________
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c’est bien ce qui me semblait. : au fur et à mesure que je feuillette ce livre pour remonter au DEBUT , ses pages deviennent de plus en plus FINES
That's what I thought: as I flick through this book to get back to the BEGINNING its pages get thinner and thinner.

Det är det som jag trodde: allteftersom jag bläddrar den här boken för att gå tillbaka till BÖRJAN, blir sidorna allt mer TUNNARE
_____________________________________________________________________

_____________________________________________________________________

en fait, il faut feuilleter une infinité de pages pour remonter au début du commencement

In fact an infinity of pages need to be flicked through to get to the start of the beginning

I själva verket får man bläddra genom ett otal sidor för att komma upp till början
_____________________________________________________________________

_____________________________________________________________________

je sais …..

I know…

_____________________________________________________________________

Jag vet

_____________________________________________________________________

mais alors, que signifie que cette ultime épaisseur de temps d’un centième de seconde qui nous sépare de t = 0 ? 

So what does this final thickness of time of a hundredth of a second that separates us from t = 0 mean?

Men vad är det som pekar på att denna yttersta tjocklek av en tid på en hundradels sekund som skiljer oss från t = 0 ?

_____________________________________________________________________

_____________________________________________________________________

je crois qu’en fait cela ne signifie pas grand-chose et que cela serait plutôt UNE VUE DE L’ESPRIT

I think, in fact, it doesn't mean much and it is more like a simple POINT OF VIEW.

Jag tror faktiskt att detta inte betyder särskilt mycket och att det hela snarare är ETT TANKEFOSTER
_____________________________________________________________________

_____________________________________________________________________

vous voulez dire qu’il serait PHYSIQUEMENT impossible de remonter vers cette ORIGINE DU TEMPS et, plus encore, de la franchir ?

You mean it would be PHYSICALLY impossible to get back to this ORIGIN OF TIME and, even more, get beyond it?

Menar du att det skulle FYSISKT omöjligt att gå tillbaka till TIDENS UPPKOMST och, dessutom, överskrida den?
_____________________________________________________________________

_____________________________________________________________________
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Eh oui, pour croiser au voisinage de ces sargasses spatio-temporels, il faudrait un véhicule ( et un  observateur) faits de matière ordinaire

Yes, to cross it in this spatio-temporal Sargasso sea you would need a vehicle (and an observer) made of ordinary matter.

Ja, för att passera i närheten av dessa sargassum av rum-och-tid, måste man ha ett fordon (och en observatorium) gjord av en vanlig material.

_____________________________________________________________________

_____________________________________________________________________

or, au voisinage de t = 0 tout va à la vitesse de la lumière ! 

But around t = 0 everything moves at the speed of light.

Men intilliggande t = 0, går allting med ljushastighet!
_____________________________________________________________________

_____________________________________________________________________

mais… qu’est-ce qu’une chose qu’on a imaginé et qu’on ne peut physiquement réaliser ? 

but…what is something that we imagined but that we can't physically make?

Men... vad är det för en grej som vi föreställde oss och som vi inte kan realisera fysiskt?

_____________________________________________________________________

_____________________________________________________________________

je crois que ce BIG BANG est un fantasme de scientifiques

I think the BIG BANG is a scientific fantasy.

Jag tror att den här BIG BANG är en vetenskaplig fantasm.
_____________________________________________________________________

_____________________________________________________________________

bref, selon les modèles actuels l’univers serait né d’un instant DENUE DE SENS. On ne sait pas pourquoi il était dans un tel CHAOS, ni pourquoi cet état a perduré. Comme son évolution s’est alors effectuée de manière isentropique le fait que le temps ait pu s’écouler reste un mystère complet

In short, according to current models, the universe was born in a moment WITHOUT SENSE. We don't know why it was in such CHAOS, nor why that state continued. As its evolution happened in an isentropic manner, the fact that time passes remains a complete mystery.

Kortfattat, enligt dagens modeller skulle universumet ha fötts i ett ögonblick UTAN MENING. Det är oklart varför det var i ett sådant KAOS, eller varför detta tillstånd  fortbestod. Eftersom dess utveckling utfördes isentropiskt, är faktumet att tiden kunde förflyta förblir en fullständig gåta.
_____________________________________________________________________

_____________________________________________________________________

copie à refaire

[copy to be redone]

_____________________________________________________________________

En kopie att göra

_____________________________________________________________________
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TROISIEME PARADOXE COSMOLOGIQUE

THIRD COSMOLOGICAL PARADOX

TREDJE KOSMOLOGISKA PARADOXEN

_____________________________________________________________________

_____________________________________________________________________

je propose que nous laissions en suspens ces questions sur le temps

I propose that we drop these question on time for the moment.

Jag föreslår att låta bli dessa frågor om tiden.

_____________________________________________________________________

_____________________________________________________________________

oui, essayons quand même d’avancer

Yes, let's try to move on all the same.

Ja, nu ska vi försöka i alla fall att fortsätta

_____________________________________________________________________

_____________________________________________________________________

Sophie, arrête ! 

Sophie, stop!

Sophie, sluta !

_____________________________________________________________________

_____________________________________________________________________

Bouh….

Beeuh...

Baaahh...

_____________________________________________________________________

_____________________________________________________________________

toute la force de la science est de pouvoir oublier ses contradictions

The strength of science is to be able to forget its contradictions

Vetenskapens styrka är att kunna glömma dess motsättningar

_____________________________________________________________________

_____________________________________________________________________

quelles contradiction ? ….

What contradictions?…

Vila motsättningar ?

_____________________________________________________________________

_____________________________________________________________________

bon, voyons quelle est la suite du programme

Let's see what's next in our programme

Nu ska vi se fortsättningen på programmet

_____________________________________________________________________

_____________________________________________________________________

GRAND LIVRE DE L’UNIVERS

THE BIG BOOK OF THE UNIVERSE

DEN STORA UNIVERSUMBOKEN

_____________________________________________________________________

_____________________________________________________________________

l’univers doit être composé par moitié de MATIERE et d’ANTIMATIERE
The universe must be made half of MATTER and half of ANTI-MATTER.

Universum måste bestå hälften av MATERIA och hälften av ANTI-MATERIA
_____________________________________________________________________

_____________________________________________________________________
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_____________________________________________________________________

d’après l’Anglais DIRAC ce que nous appelons VIDE ne serait en fait qu’un étroit assemblage de matière et d’antimatière

According to the Englisman DIRAC what we call THE VOID is in fact a very tight assembly of matter and anti-matter.

Enligt engelsken DIRAC, det som vi kallar för VAKUUM är i själva verket en nära uppsättning av material och antimateria.
_____________________________________________________________________

_____________________________________________________________________

les PHOTONS étant des ondulations qui agitent ce tissu spatial (*)

PHOTONS being undulations that agitate this spatial tissue (*)

FOTONERNA utgör vågrörelser som rör om rymdvävnaden (*)

_____________________________________________________________________

_____________________________________________________________________

quand deux ondulations suffisamment prononcées se rencontrent, un carreau se descelle. Le carreau libéré devenant synonyme de matière et le vide qu’il a laissé d’antimatière

When two suffciently pronounced undulations meet, a tile comes unstuck. The freed tile becoming synonymous with matter and the void that it leaves with anti-matter

När två tillräckligt markerade vågrörelser möts, lösgörs en platta. Den lösgjorda plattan blev synonymt med material och tomrummet som denne släppte av antimateria.

_____________________________________________________________________

_____________________________________________________________________

CLOP ! 

CLOMP!

PANG !
_____________________________________________________________________

_____________________________________________________________________

Le carreau libre peut se déplacer. Mais le trou aussi, grâce au mouvement des carreaux adjacents, comme dans le jeu du TAQUIN

The free tile can move but the hole as well, because of the adjacent tiles, like in the game of MAGIC SQUARES.

Den lösa plattan kan förflytta sig. Men hålet också, tack vare rörelsen av närliggande platter, som i leken MAGISK KVADRAT
_____________________________________________________________________

_____________________________________________________________________

(*) voir BIG BANG

(*) See BIG BANG

(*) se BIG BANG
_____________________________________________________________________

_____________________________________________________________________

44 

au moment du BIG BANG la turbulence du tissu cosmique (la température) était considérable. Les carreaux ne tenaient pas en place. Ils se descellaient et se rejoignaient sans cesse dans un fantastique tohu_bohu. 

At the instant of the BIG BANG the turbulence of the cosmic tissue (the temperature) was considerable. The tiles couldn't stay in place. They came unstuck and joined each other incessantly in a fantastic hubbub.

Under BIG BANG var turbulensen av den kosmiska vävnaden (temperaturen) betydlig. Plattorna höll inte på plats. Hela tiden lösgjorde de sig och anslöt sig till varandra på nytt i en fantantisk  röra.
_____________________________________________________________________

_____________________________________________________________________

quand la température eut baissé suffisamment (*) presque tous les carreaux retournèrent dans les emplacements libres … sauf un sur un milliard et les plis qui agitaient désormais le tissu cosmique devinrent si faibles qu’ils étaient alors incapables de desceller de nouveaux carreaux

When the temperature had diminished enough (*) almost all the tiles returned to free places…except one in a hundred thousand and the folds that were agitating the cosmic tissue became so weak that they were then unable to loosen any more tiles.

När temperaturen sjönk tillräckligt (*) har nästan alla plattor fallit tillbaka i lös läge… förutom en på en miljard och veck som numera rör om den kosmiska vävnaden blev så svaga att de var då oförmogna att lösgöra flera plattor
_____________________________________________________________________

_____________________________________________________________________

mais le risque de complète annihilation restait grand. Comme la matière et l’antimatière possédaient des charges électriques opposées, elles étaient de fait fortement attirées d’une par l’autre

But the risk of complet annihilation remained important. As matter and anti-matter possess opposing electric charges, they were strongly attracted to each other.

Men risken för fullständig utplåning var fortfarande stor. Eftersom material och anti-materia hade motsatta elektriska laddningar, var de därför kraftigt dragna till varandra.

_____________________________________________________________________

_____________________________________________________________________

(*) au bout de 13 secondes la température de l’univers n’était plus que de trois milliards de degrés

(*) After 13 seconds the temperature of the universe had dropped to three hundred thousand degrees.

(*) efter 13 sekunder skulle universumstemperatur vara inte mer än tre miljarder grader
_____________________________________________________________________

_____________________________________________________________________
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Eh bien c’est très simple. Comme le disait Sophie tout à l’heure, le phénomène très brutal de l’expansion a séparé ces deux sœurs ennemies en les empêchant de s’entre-détruire. 

Well it's quite simple. s Sophie said earlier, the brutal phenomenon of expansion separated these two enemy sisters and stopped their mutual destruction.

Jo, det är mycket enkelt. Som Sophie sa tidigare, det mycket brutal expansionsfenomenet separerade dessa två systrar-fiender genom att hindra dem förstöra varandra.

_____________________________________________________________________

_____________________________________________________________________

encore ! 

Again!

Igen !

_____________________________________________________________________

_____________________________________________________________________

oui, mais entre temps l’univers était devenu collisionnel. S’il y avait eu des galaxies de matière et d’autres d’antimatière, elles se seraient rencontrées de temps en temps

Yes, but in the meantime the Universe became collisional. If there were galaxies made of matter and others of anti-matter they would have met each other from time to time

Ja, men under tiden hade universum blivit benägen för kollisioner. Om det fanns stjärnsystem av material och de andra av anti-materia, skulle de stöttas då och då.

_____________________________________________________________________

_____________________________________________________________________

et cela ferait un bruit radio si fort qu’on  l’entendrait d’un bout à l’autre de l’univers

and that would make radio noise so loud that it could be heard from one end of the Universe to the other

och detta skulle göra en så stark radiofrekvent bruseffekt, att det skulle höras på universums andra sida

_____________________________________________________________________

_____________________________________________________________________

CLONK CLONK CLONK 

CLONK CLONK CLONK

CLONK CLONK CLONK

_____________________________________________________________________

_____________________________________________________________________

or on ne décèle pas cette annihilation matière-antimatière

but we do not detect this matter - anti-matter annihilation

då ska vi inte röja den här förintelsen av materia och antimateria

_____________________________________________________________________

_____________________________________________________________________

l’angoisse

Worrying

Ångest

_____________________________________________________________________
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si je comprends bien, c’est un miracle que nous existions

So if I understand it correctly, it's a miracle that we even exist.

Om jag förstår rätt, så är det ett under att vi existerar

_____________________________________________________________________

_____________________________________________________________________

Tirésias, je vous en prie, n’abusez pas de cette situation ! 

Tiresias, please, don't profit from the occasion.

Tiresias, snälla, missbruka inte situationen!

_____________________________________________________________________

_____________________________________________________________________

en toute logique, si l’antimatière n’est pas dans notre univers, c’est qu’elle est ailleurs

Logically, if anti-matter isn't in our universe, it's somewhere else.

Logiskt sett, om antimateria inte är i vårt universum, så är det någon annanstans

_____________________________________________________________________

_____________________________________________________________________

THEORIE D’A. SAKHAROV et de J.P.PETIT (*)

THEORY OF A. SAKHAROV and J.P PETIT (*)

A.SAKHAROVS och J.P.PETITS TEORI (*)

_____________________________________________________________________

_____________________________________________________________________

supposons deux univers réunis, collés ensemble à l’instant initial

Let us suppose two united universes, joined together at the initial instant

Vi ska tänka oss två förenade universum, sammanbundna vid ursprungsmoment
_____________________________________________________________________

_____________________________________________________________________

cosmocolle

Cosmoglue

Kosmiskt klister

_____________________________________________________________________

_____________________________________________________________________

(*) J.P.PETIT : univers énantiomorphes à temps propres opposés & univers en interaction avec leur image dans le miroir du temps. Comptes Rendus de l’Adadémie des Sciences de Paris, tome 284 (23 mai 1977) série A page 1315 et tome 284 ( 6 juin 1977 ) page 1413

(*) J.P PETIT: Enantiomorphic universes with their own opposed times in interaction with their image in the mirror of time. Accounts of the Paris Academy of Science, volume 284 (23 May 1977) series A, page 1315 and volume 284 (6 June 1977), page 1413.

(*) J.P.PETIT : Spegelbildsisomerer i motsatt korrekt tid & universum i samspel med deras bild i tidspegeln. Redogörelser av Vetenskapliga Akademin, Paris, volum 284 (23 maj 1977), seri A, sidan 1315 och volum 284 (6 juni 1977), sidan 1413
_____________________________________________________________________
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comme ceci

Like this

Som den här

_____________________________________________________________________

_____________________________________________________________________

maintenant le BIG BANG

Now the BIG BANG

Nu är det BIG BANG
_____________________________________________________________________

_____________________________________________________________________

en séparant ces feuillets il pourra se trouver que sur chaque pavage d’univers certains carreaux se trouvent arrachés et que d’autres se retrouvent en surépaisseur

By separating these sheets it might be that on each paving certain tiles have been pulled off and others are extra-thick

När man separerar dessa skivor, kan det vara så att på universums varje läggning slits vissa rutor och att de andra blir för tjocka

_____________________________________________________________________

_____________________________________________________________________

Dans chacun de ces univers les carreaux en surépaisseur vont se loger dans les emplacements libres. Si la situation est parfaitement symétrique on retrouvera la planéité initiale. 

In each of these universes the extra-thick tiles will lodge in the free areas. If the situation is perfectly symmetrical we'd find the intial flatness again.

I alla dessa universum kommer de övertjocka plattorna att inrymmas i tomma platser. Om situationen är alldeles symetrisk, kommer vi att få den ursprungliga planheten.

_____________________________________________________________________

_____________________________________________________________________

par contre, s’il se produit une BRISURE DE SYMETRIE il y aura un excès de matière dans l’un de ces univers et un excès d’antimatière dans l’autre, qui ne pourront plus s’annihiler

However, if a SYMMETRY BREAK occurs, there will be an excess of matter in one of these universes and an excess of anti-matter in the other, which could no longer annihilate each other.

Om ett symetribrott inträffar, blir det för mycket av materia i det ene av dessa universum och för mycket av antimateria i det andre, som inte längre kan utplåna sig.

_____________________________________________________________________

_____________________________________________________________________

ANTI-UNIVERS (antimatière)                  UNIVERS (matière) 

ANTI-UNIVERSE (anti-matter)

UNIVERSE (matter)

ANTI-UNIVERSUM (antimateria)

UNIVERSUM (materia)

_____________________________________________________________________

_____________________________________________________________________
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mais … à quoi correspond l’antimatière qui fut découverte dans les rayons cosmiques, peu de temps après la découverte de Dirac, ou celle qu’on fabrique en laboratoire ? 

But…to what does the anti-matter discovered in cosmic rays, a little while after Dirac's discovery, correspond? Or that that is created in laboratories?

Men... Vad motsvarar anti-materia som var upptäckt i kosmiska strålarna, kort efter Diracs upptäckt, eller den som tillverkas i laboratorium?

_____________________________________________________________________

_____________________________________________________________________

rien ne nous empêche, ici-bas, de créer de très fortes concentrations d’énergie dans des accélérateurs de particules géants, au point de desceller un nouveau carreau, c'est-à-dire de créer une PAIRE matière_antimatière

Down here there is nothing to stop us from creating strong energy concentrations in giant particle accelerators, to the point of detaching another tile, that is to say the creation of a matter–anti-matter PAIR.

Inget som hindrar oss här, på jorden, att skapa energi i mycket höga halter i gigantiska partikelacceleratörer, så att en ny ruta lösgörs, det vill säga, att skapa ett PAR – material – anti-materia
_____________________________________________________________________

_____________________________________________________________________

CLOP ! 

CLOMP!

CLOP !
_____________________________________________________________________

_____________________________________________________________________

mais, si tu ne prends pas de précautions pour tenir cette antimatière loin de toute matière

but if you don't take precautions to keep this anti-matter at a distance from matter

men om du inte vidtar försiktighetsåtgärder för att hålla denna anti-materia borta från alla materia
_____________________________________________________________________

_____________________________________________________________________

elle s’annihilera immédiatement

it will immediately annihilate itself.

blir den förintad omedelbart

_____________________________________________________________________
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Andréi Sakharov utilisa cette vision gémellaire pour expliquer l’apparente absence d’antimatière dans notre « versant » d’Univers

Andrei Sakharov used this twin vision to explain the apparent absence of anti-matter on our "side" of the Universe

Andrej Sakharov använde denna dubbla vision för att förklara den uppenbara frånvaron av anti-materia i vår “sida” av universum

_____________________________________________________________________

_____________________________________________________________________

les deux UNIVERS JUMEAUX présentant des PARITES inverses (brisure de symétrie DROITE-GAUCHE) 

The two TWIN UNIVERSES present inverted PARITIES (broken RIGHT-LEFT symmetry)

Båda TVILLINGUNIVERSUM presenterar omvänta PARITET (HÖGER-VÄNSTER symmetribrott) 
_____________________________________________________________________

_____________________________________________________________________

ANTI-UNIVERS          UNIVERS

ANTI-UNIVERSE

UNIVERSE

ANTI-UNIVERSUM    UNIVERSUM

_____________________________________________________________________

_____________________________________________________________________

temps          temps

Time

Time

Tid       
tid 

_____________________________________________________________________

_____________________________________________________________________

de plus les FLECHES DU TEMPS seraient en opposition, le futur d’un des univers étant dans le passé de l’autre

The TIME ARROWS will also be in opposition, the future of one universe being the past of the other.

Förresten skulle TIDSPILARNA star i kontrast, framtiden av det ene universum skulle vara i den andres förflutna
_____________________________________________________________________

_____________________________________________________________________

même démarche effectuée indépendamment en 1977 par Jean-Pierre Petit qui pense, lui, qu’il n’y avait qu’un seul univers, initialement collé sur lui-même le long d’un « ruban de Möbius à trois dimensions » 

[N.d.T: Il manque quelque chose ici non?] the same approach was effected independently by Jean-Pierre Petit in 1977 who believes that there was just one universe, initially attached itself along a "three dimensional Moebius strip"

Samma procedur har genomförts självständigt i 1977 av Jean-Pierre Petit som tror att det endast finns ett universum, ursprungligen klistrat på sig själv längst “tredimensionnela Mobiusband”

_____________________________________________________________________

_____________________________________________________________________

cosmocolle

Cosmoglue

Kosmiskt klister

_____________________________________________________________________

_____________________________________________________________________
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selon Petit, il n’y aurait alors qu’une seule flèche du temps et ce seraient les caprices de la géométrie de l’espace-temps (*) qui créeraient cette illusion de STRUCTURE GEMELLAIRE

According to Petit, then there would have been just one time arrow and it would have been the caprices of space-time geometry (*) that created this TWIN STRUCTURE illusion

Enligt Petit, finns det alltså endast en tidpil och det var geometrins- och rymdnycker (*) som skulle skapa denna illusion av TVILLINGSTRUKTUR
_____________________________________________________________________

_____________________________________________________________________

temps        temps

Time

Time

Tid                 tid

_____________________________________________________________________

_____________________________________________________________________

il n’y aurait aussi qu’une seule espèce de matière, l’antimatière n’étant, selon le mot de l’Abbé Lemaître que de la matière « vue à l’envers » 

There would also have been just one sort of matter, anti-matter being, according to the term of Abbé Lemaître, "seen backwards"

Det skulle finnas endast en sort av materia; anti-materia skulle inte finnas, enligt ordet av prästen Lemaitre, om materia “sett omvänd”.

_____________________________________________________________________

_____________________________________________________________________

celles-ci ne seraient que des déformations résiduelles de courbure, parfaitement symétriques. 

These would have been residual curvature deformations

Dessa skulle bara vara kvarstående distorsioner, helt symmetriska. 

_____________________________________________________________________

_____________________________________________________________________

(*) voir LE TOPOLOGICON

(*) See TOPO THE WORLD

(*) se TOPOLOGIKON
_____________________________________________________________________
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tiens, de l’antimatière

Ah, anti-matter

Se där, anti-materia

_____________________________________________________________________

_____________________________________________________________________

tiens, de l’antimatière

Ah, anti-matter

Se där, anti-materia

_____________________________________________________________________

_____________________________________________________________________

configuration géométrique donnant l’apparence d’une dualité matière_antimatière

Geometric configuration with the appearance of a duality matter – anti-matter

Geometrisk konfiguration som gen intryck av en dubbelhet – material-anti-materia

_____________________________________________________________________

_____________________________________________________________________

si je comprends bien, primo il est impossible de franchir le BIG BANG, car alors le temps gèle dans les chronomètres. Mais, de toute façon, de l’autre côté, tout se déroule à rebrousse-temps

If I understand correctly, first it's impossible to go beyond the BIG BANG because then time freezes in chronometers and, in any case, on the other side time goes backwards

Om jag förstår rätt, för det första är det omöjligt att överskrida BIG BANG, därför att då fryser tiden i kronometrar. Men i vilket fall som helst, å andra sida, fortlöper allting mot tiden, bakvänt
_____________________________________________________________________

_____________________________________________________________________

et Sophie, ça va mieux ? 

And Sophie, feeling better?

Och Sophie, går det bättre?

_____________________________________________________________________

_____________________________________________________________________

oui

Yes

ja

_____________________________________________________________________

_____________________________________________________________________

est-ce qu’on pourrait passer de l’autre côté, à l’aide de trous noirs et se retrouver chez les RETROCHRONIENS ? 

Could we pass through to the other side with the help of black holes and find ourselves among the RETROCHRONIANS?

Kunde man komma till från andra sidan, med hjälp av svarta hål och hamna hos RETROKRONIER?
_____________________________________________________________________

_____________________________________________________________________

bigre ! …

Gosh!…

Fan !

_____________________________________________________________________

_____________________________________________________________________
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DIACHRONE ET RETROCHRONE

DIACHRONIC AND RETROCHRONIC

DIAKRON OCH RETROKRON

_____________________________________________________________________

_____________________________________________________________________

si un jour nous rencontrions des rétrochroniens, que faudrait-il leur dire ? 

If we met retrochronians one day what should we sat to them?

Om en dag träffar vi retrokroner, vad skulle man säga till dem?
_____________________________________________________________________

_____________________________________________________________________

«  au revoir » , je suppose, puisque dans leur TEMPS PROPRE ils s’en vont

"Goodbye" I expect, because in their OWN TIME they are leaving.

“hej då”, tror jag, därför att i deras KORREKTA TID går de sin väg
_____________________________________________________________________

_____________________________________________________________________

Tu parles d’une conversation ! Ils sauraient tout ce qu’on va leur dire, alors qu’ils ignoreraient tout de nos phrases précédentes

Now that's an odd conversation. They'll know everything we were going to say but have no idea of phrases we'd said before.

Snacka om ett samtal! De skulle veta allt som vi har att säga till dem, medan de inte skulle känna alla våra tidigare fraser

_____________________________________________________________________

_____________________________________________________________________

Quelle angoisse ! 

Worrying!

Vilken ångest !

_____________________________________________________________________

_____________________________________________________________________

Economiquement, ça serait quand même intéressant. Ils seraient intéressés par nos déchets, pour les transformer en matières premières

It'll be interesting economically though, they'd be interested in our waste which they could change into raw materials.

Ekonomiskt sett, skulle det ändå vara intressant. De skulle vara intresserade av vårt avfall, för att omvandla det till råvaror

_____________________________________________________________________

_____________________________________________________________________

Excusez-moi, j’ai un peu perdu le fil… où en étions-nous ? 

Excuse me, I've lost the thread…where were we?

Ursäkta mig,  jag har tappat tråden... Var var vi nu?

_____________________________________________________________________

_____________________________________________________________________

Anselme se demandait comment on pourrait échanger des messages avec des rétrochromiens

Archibald was asking how we could exchange messages wih retrochronians.

Anselme undrade hur vi skulle kunna kommunicera med retrokroner.

_____________________________________________________________________
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Hum, ça me parait difficile. En effet, si on leur envoie un message, quand ils le reçoivent, dans leur temps à eux, ils l’émettent.

That seems difficult to me because if we sent them a message, when they received it, in their time, they would be sending it.

Hm, det verkar svårt. I själva verket, om vi skickar dem ett meddelande, när de har har fått det, i deras egen tid, sänder de det.

_____________________________________________________________________

Avec ces gens, tout dialogue serait impossible ?

So with these people all dialogue would be impossible?

Skulle en dialog vara omöjlig med dessa människor?

_____________________________________________________________________

Ou alors il existe une personne avec laquelle on ne peut pas échanger d’information.

Or a person exists with whom we could never exchange information.

Eller så finns det en person med vilken man kan byta information.

_____________________________________________________________________

Soi-même.

Yourself.

Med sig själv

_____________________________________________________________________

Essaie de t’envoyer à toi-même des messages à travers la glace.

Try sending yourself a message through the mirror.

Försök att skicka till dig själv meddelande genom spegeln

_____________________________________________________________________

Tu n’apprendras pas grand-chose.

You won't learn much.

Du kommer inte att få veta för mycket.

_____________________________________________________________________

Mais … pour l’Univers ?

But…for the Universe?

Men... för universum?

_____________________________________________________________________
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Vous aimez les contes ? Je vais vous en raconter un.

You like stories. I'll tell you one.

Tycker du om sagor? Jag ska berätta en för dig.

_____________________________________________________________________

Oh oui, oh oui…

Yes please.

Ja, gärna.

_____________________________________________________________________

Il était une fois deux jeunes garçons qui passaient leur temps adossés l’un à l’autre, comme un presse livre.

Once upon a time there were two young boys who spent their days pressed back to back, like bookends

Det var en gång två unga pojkar som tillbringade tiden rygg mot rygg med varandra, som en bokpress.

_____________________________________________________________________

Ils habitaient la même maison et étaient voisins de palier. Un jour ils partirent droit devant eux, le brun vers l’ouest, le blond en direction de l’est.

They lived in the same house and on the same landing. One day they went straight out from where they lived, the brown haired one to the west, the blond to the east.

De bodde i samma hus och var grannar på samma våningsplan. En dag åkte de rakt fram, den mörke västerut, den blonde österut

_____________________________________________________________________

_____________________________________________________________________

Le blond se dit « si le monde est rond, en marchant tout droit nous devrions en faire le tour et nous croiser à mi-parcours.

The blond said "if the world is round, by walking straight we should go right round and meet each other half way.

Den blonde tänkte “om världen är rund, då genom att gå rakt fram, skulle vi gå runt och mötas i halvavägen.

_____________________________________________________________________

_____________________________________________________________________

Le voyage fut d’une longueur inimaginable. Le blond craignit de ne pas vivre assez vieux pour en voir le terme.

Ther journey was unimaginably long and the blond thought he wouldn't live long enough to get to the end.

Resan var ofattbart lång. Den blonde var rädd om att inte leva tillräckligt länge för att se slut.

_____________________________________________________________________

C’est fou ce que ma vue a baissé et j’ai perdu presque tout mes cheveux.

It's amazing how my sight is going and I've lost almost all my hair.

Det är förvånansvärt hur min syn blev nedsatt och jag tappade nästan allt mitt hår

_____________________________________________________________________
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Un jour qu’il se restaurait, il fit un geste malencontreux et perdit son tire bouchon dans un puits.

One day, while eating, he dropped his corkscrw and it fell into a well.

En dag då han blev återställd, gjorde han ett olyckligt fel och förlorade sin korkskruv i en brun.

_____________________________________________________________________

Quand il se trouve à mi-parcours, au bout du monde, il faisait un froid intense et il en souffrit, car il avait perdu tous ses cheveux. Il attendait en vain son compagnon.

When he was halfway, at the other side of the world, it was very cold and he suffered because he had lost all his hair. He waited for his companion in vain.

När han befann sig på halva vägen, i världens ända, var det mycket kallt och han led av detta, därför att han hade tappat allt sitt hår. Han väntade förgäves sin följeslagare.

_____________________________________________________________________

_____________________________________________________________________

Il a du se perdre en route, ou alors il est mort pendant le voyage…

He must have got lost on the way or died during his journey.

Han måste ha gått vilse på vägen, eller så dog han under resan..

_____________________________________________________________________

Il prit tristement la route du retour.

Saddened, he began the journey home

Tyvärr, tog han vägen tillbaka

_____________________________________________________________________

Tout ce chemin pour RIEN.

All that way for NOTHING.

All denna färd för INGENTING
_____________________________________________________________________

Mais les choses s’arrangèrent. Le soleil se mit à briller.

But things began to improve. The sun began to shine.

Men saker och ting har ordnat sig. Solen började skina.

_____________________________________________________________________

Incroyable ! Mes cheveux repoussent et je peux pratiquement me passer de lunettes !

Incredible! My hair is growing again and I hardly need glasses anymore!

Otroligt! Mitt hår växer på nytt och jag kan praktiskt taget klara mig utan glasögon!

_____________________________________________________________________

Ah … bien.

Ah…good.

Jaså.... bra.

_____________________________________________________________________

Le temps passa.

Time passed.

Tiden går

_____________________________________________________________________

56 

La perte de son tire-bouchon l’ennuyait beaucoup. Or un jour où il se restaurait au bord d’un puits, un tire-bouchon en jaillit.

The loss of his corkscrew bothered him but one day while eating by the side of a well, a corkscrew popped out.

Förlusten av korkskruven besvärade honom mycket. Men en dag då han får lust att äta vid en bruns kant, kommer en korkskruv hoppa ut.

_____________________________________________________________________

Mais malgré ses efforts, il ne parvint pas à l’utiliser.

However, despite his efforts, he couldn't use it.

Men trots sina ansträngningar, lyckas han inte att använda den.

_____________________________________________________________________

J’ai beau visser, ça ne rentre pas.

It doesn't matter how much I turn it, it won't go in.

Jag skruvar förgäves, men den går inte in.

_____________________________________________________________________

En fin du compte il aperçut au loin l’immeuble qu’il avait quitté il y a si longtemps.

Finally, in the distance, he saw the building he had left so long ago.

I slutändan märkte han i fjärran byggnaden som han hade lämnat för länge sedan

_____________________________________________________________________

La boucle est bouclée.

The circle was completed.

Cirkeln är sluten.

_____________________________________________________________________

Il monta l’escalier et se retrouva nez à nez…

He climbed the stairs and came face to face…

Han gick uppför trappan och hamnade näsa mot näsa....

_____________________________________________________________________

… avec un jeune garçon blond…

…with a young, blond boy…

... med en ung blond pojke...

_____________________________________________________________________
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Alors ils s’adossèrent l’un contre l’autre.

So they sat down back to back as before.

Och så lutade de sig mot varandra.

_____________________________________________________________________

Et c’est la fin de mon histoire.

And that's the end of my story.

Och detta är slutet på min berättelse

_____________________________________________________________________

Je crois que j’ai compris. Ils ne sont pas adossés l’un contre l’autre. Il y a une sorte de miroir, un miroir SPATIO-TEMPOREL.
I think I've understood. They aren't really back to back, it's a sort of mirror, a SPATIO-TEMPORAL mirror.

Jag tror att jag har förstått. De är inte lutade mot varandra. Det finns ett slags spegel, en RYMD-TIDS spegel.
_____________________________________________________________________

_____________________________________________________________________

Mais… l’histoire de tire-bouchon … et des puits ?

But the bit about the corkscrew…and the wells?

Men... historien om korkskruven... och brunnarna?

_____________________________________________________________________

Je crois que le premier puits était un TROU NOIR et l’autre une FONTAINE BLANCHE. Je crois que s’il n’arrivait pas à ouvrir sa bouteille, c’est que le tire-bouchon était devenu ENANTIMORPHE, en miroir (*).

I think the first well was a BLACK HOLE and the other a WHITE FOUNTAIN. I think  that if he couldn't open the bottle it was because the corkscrew had become ENANTIOMORPHIC, mirror-like.

Jag tror att den första brunnen var ett SVART HÅL och den andra är ett VITT HÅL. Jag tror at tom han inte lyckades att öppna flaskan, så är det därför att korkskruven blev ENANTIOMORFISK, i spegel (*).
_____________________________________________________________________

_____________________________________________________________________

(*) Voir Le Trou Noir, page 61.

(*) See The Black Hole, page 61.

(*) Se Svart Hål, sidan 61.

_____________________________________________________________________
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TEMPS ET MECANIQUE QUANTIQUE
TIME AND QUANTUM MECHANICS

TIDEN OCH KVANTMEKANIK
_____________________________________________________________________

Et le temps, qu’en pensent les mécaniciens quanticiens ?

And time, what do quantic mechanics think of that?

Och tiden, vad tycker kvantmekanikerna om det?

_____________________________________________________________________

Pour les physiciens des quanta l’Univers se réduit à l’équation de SCHRÖDINGER, où intervient la CONSTANTE DE PLANCK h. 

For quanta physicists the Universe comes down to SCHRÖDINGER'S equation, which uses the PLANCK CONSTANT h.

För kvantfysikerna reduceras Universum till SCHRÖDINGERekvation, där används PLANCKS KONSTANT h.
_____________________________________________________________________

Tous les EVENEMENTS de l’Univers sont censés être des solutions de cette équation maîtresse.

All the EVENTS of the Universe are supposed to be solutions to this master equation.

Alla HÄNDELSER i Universum skulle vara lösningar på denna master-ekvation.
_____________________________________________________________________

Voilà au moins une théorie qui a réponse à tout.

Ah, at least one theory that answers everything.

Här är åtminstone en teori som har svar på allt.

_____________________________________________________________________

A cette équation est associé un temps caractéristique tp, le TEMPS DE PLANCK (*) qui vaut 0,53 10-43 seconde. Il est fondamentalement impossible, à l’aide de l’équation de Schrödinger de décrire un phénomène ayant une durée inférieure à ce temps de Planck tp.

A characteristic time tp, PLANCK'S TIME (*), equal to 0.53 10-43 seconds is associated with this equation. It is fundamentally impossible, using Schrödinger's equation, to describe a phenomenon with a duration of less than Planck's time tp.

Med denna ekvation är associerad en karakteristisk tid tp, PLANCKS TID (*) värd 0,53 10-43 av sekund. Detta är i grunden omöjligt, med hjälp av Schrödingerekvation att beskriva en företeelse med en period kortare än tiden av Planck tp.
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Voilà autre chose …

That's something else…

Här är en sak till...

_____________________________________________________________________

(*) Voir Annexe D.

(*) See Annex D.

(*) Se Bilaga D

_____________________________________________________________________
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Ca voudrait dire que le présent a une épaisseur finie.

That would mean that the present has a finite thickness.

Detta skulle innebära att nutiden har en ändlig tjocklek.

_____________________________________________________________________

Cela veut aussi dire que pour les quanticiens le passé s’arrête à 10-43 sec. Eux non plus ne peuvent atteindre conceptuellement le temps t = 0.

It also means that for quanticians the past stops at 10-43 sec. They are also unable to conceptually reach the time t = 0.

Detta innebär också att för kvanterna stannar det förflutna på 10-43 sek. De kan inte heller uppnå begreppsligt tiden t = 0.
_____________________________________________________________________

_____________________________________________________________________

Décidément …

Really…

Verkligen…
_____________________________________________________________________

Bon, de quoi parlons-nous exactement ? Si l’Univers est une machine, quels sont ses rouages essentiels ?

So what are we talking about exactly? If the Universe is a machine what are its main mechanisms?

Nåväl, vad pratar vi egentligen om? Om Universum är en maskin, vad är själva maskineri?

_____________________________________________________________________

Schématiquement l’Univers connu se présente comme un mélange de photons et de particules de matière, dans le rapport un milliard pour un. La gravitation crée des assemblages de matière où la FUSION convertit en permanence de la matière en rayonnement. Les produits de ces réactions sont appelées « atomes » (*).

Schematically the known Universe is a mix of photons and particles of matter, in a ratio of a thousand million to one. Gravity creates assemblies of matter where FUSION continually converts matter into radiation. The products of these reactions are called "atoms" (*).

Schematiskt visas Universum som vi känner som en blandning av fotoner och partiklar av material, i förhpllande en miljar för en. Gravitationen skapar sammansättningar av material där FUSION ständigt omvandlar material till strålning. Produkterna av dessa reaktioner kallas “atomer” (*).
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Ces produits de la NUCLEOSYNTHESE peuvent réagir entre eux soit spontanément, soit en réabsorbant des photons (PHOTOSYNTHESE), en produisant des assemblages appelés molécules. Les atomes peuvent aussi se décomposer en réémettant des photons (FISSION NUCLEAIRE).

These products of NUCLEOSYNTHESIS can interreact, either spontaeously or by reabsorbing photons (PHOTOSYNTHESIS), producing assemblies called molecules. Atoms can also decompose by re-emitting photons (NUCLEAR FISSION).

Dessa produkter av NUKLEÄR SYNTES kan reagera sinsemellan antingen spontant eller genom att absorbera fotoner (FOTOSYNTES), genom att producera sammansättningar kallade molekuler. Atomerna kan också brytas ned genom att släppa ut fotoner (NUKLEÄR FISSION).
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Atomes

Molécules


Fission

Atoms


Molecules


Fission

Atomer

Molekuler


Fission

_____________________________________________________________________

(*) Voir Mille Milliards de soleil.

(*) See A Thousand Million Suns.


(*) Se Tusen miljard solar
_____________________________________________________________________
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Matière et lumière ne sont que deux manifestations d’une seule et même entité. L’ENERGIE – MATIERE et tous ces phénomènes ne font que traduire une lente reconversion d’une partie de la matière sous forme de photons.

Matter and light are two manifestations of one and the same entity. ENERGY-MATTER and all these phenomena just translate as a slow reconversion of a part of matter in the form of photons.

Materia och ljus är bara två uttryck för samma väsen. ENERGI-MATERIA och alla dessa företeelser avspeglar bara en långsam omvandling av en del av material i form av fotoner
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

On a supposé au début de siècle que les particules de matière gardaient une taille invariable, c'est-à-dire que l’énergie – matière qu’elles contenaient se converser au fil du temps.

At the beginning of the century it was supposed that particles of matter kept an invariable size, that is to say that the energy-matter they contained conversed [N.d.T: ?] with time.

I början av århundrandet trodde man att materias partiklar behöll en oföränderlig storlek, det vill säga att energi-materia – att de höll tillbaka konservering genom tiden.

_____________________________________________________________________

_____________________________________________________________________

Quel est ce lien magique entre la taille des objets et leur énergie ?

What is the magic link between an object's size and its energy?

Vad är den här magiska länken mellan storleken på object och deras energi?

_____________________________________________________________________

Tu sais bien qu’en mécanique quantique, toutes les particules sont assimilées à des ondulations de l’espace, à des PAQUETS D’ONDE. Par définition, si E est la quantité d’énergie – matière véhiculée par la particule, la longueur d’onde associée est λ = hc/E (*)

As you know in quantum mechanics all particles are considered to be undulations of space, to WAVE PACKETS. By definition if E is the quantity of energy-matter carried by a particle, the associated wavelength is λ = hc/E (*)

Du vet väl att i kvantmekanik är alla partiklar likställda med rymdvågor, med VÅGGRUPPER. Per definition, om E är en mängd energi-materia, driven av partikeln, associerad våglängden är hc/E (*) 
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Le paquet d’onde représentant une particule de MATIERE conserve sa LONGUEUR D’ONDE au fil du temps.

The wave packet that a particle of MATTER represents conserves its WAVELENGTH over time.

Våggruppen som representerar en partikel av MATERIA behåller sin VÅGLÄNGD genom tiden.
_____________________________________________________________________

Le PHOTON suit l’expansion de l’Univers.

A PHOTON follows the expansion of the Universe.

FOTONEN följer Universums expansion.
_____________________________________________________________________

(*) h : constante de Planck

      c : vitesse de la lumière

(*) h: Planck's constant

      c: Speed of light

(*) h: Plancks constant

      c: ljushastighet

_____________________________________________________________________
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Matière et photons, ces deux formes de l’ENERGIE – MATIERE ne vivent pas l’expansion cosmique de la même manière.

The two forms of ENERGY- MATTER, matter and photons, don't experience cosmic expansion in the same way.

Materia och fotoner, dessa två former av ENERGI – MATERIA upplever inte den kosmiska expansionen på samma sätt.
_____________________________________________________________________

_____________________________________________________________________

Ah oui, la matière, c’est de l’énergie – matière GELEE (*).

Ah yes, matter is FROZEN energy – matter (*)

Ja, ja, materia, det är den FRYSNA energi-materia (*)
_____________________________________________________________________

Bref l’Univers est donc fait de grains de matière et de photons, avec beaucoup de VIDE autour.

In short, the Universe is made up of grains of matter and photons with a lot of EMPTINESS around them.

Kort sagt, Universum är gjord av små korn av material och fotoner, med mycket TOMHET runt omkring.
_____________________________________________________________________

Mais non, Léon, le VIDE, ça n’existe pas. En mécanique quantique, l’Univers est une surface qui n’est « LISSE » nulle part. Certains plis sont comme amidonnés et représentent la matière. D’autres plis, les photons, peuvent se distendre et c’est cela qui permet l’expansion de l’Univers.

No, no Leon, EMPTINESS, the void, doesn't exist. In quantum mechanics the Universe is a surface that isn't "SMOOTH" anywhere. Certains folds are as if starched and represent matter. Other folds, phptons, can stretch and that is what allows the Universe to expand.

Nejdå, Leon, TOMHETEN existerar inte.  I kvantmekaniken är Universum en yta som inte “SLÄTAS UT” ingenstans. Vissa veck är som stärkta och representerar materia. Andra veck, fotonerna, kan sträckas ut och det är detta som möjliggör Universums expansion.
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Mais … attendez … Si l’énergie varie comme l’inverse de la longueur d’onde, de l’extension spatiale d’une particule, alors cette distension des photons traduit une PERTE CONTINUE D’ENERGIE de la part de l’Univers ?!?

But…wait…If energy varies as the inverse of the wavelength, if the spatial extension of a particle, then this photon distension translates as a CONTINUOUS LOSS OF ENERGY by the Universe.

Men… vänta… Om energin varierar som motsatsen till våglängden, i rumslig utsträckning av en partikel, då uppvisar denna uttänjning av fotoner en FORTSATT FÖRLUST AV ENERGI från Universums sida?!
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Et évidemment tout le monde s’en fout.

And obviously no one gives a fig.

Och naturligtvis struntar alla i det här.

_____________________________________________________________________

 (*) Voir BIG BANG
(*) See BIG BANG

(*) Se BIG BANG
_____________________________________________________________________

62 

L’EXPANSION COSMIQUE
COSMIC EXPANSION

KOSMISKA EXPANSIONEN
_____________________________________________________________________

Au lieu d’avoir un Univers à entropie constante et à énergie variable, il aurait été évidemment plus agréable d’avoir l’inverse. Enfin …

Instead of having a Universe with a constant entropy and with variable energy, it would be better to have the opposite. Well…

I stället för att ha ett universum med konstant entropi och variabel energi, det vore uppenbarligen trevligare att ha motsatsen. Alltså…
_____________________________________________________________________

_____________________________________________________________________

Si je comprends bien L’EXPANSION DE L’UNIVERS va de pair avec l’accroissement de l’espace occupé par les photons originels, qui constituent le FOND DE RAYONNEMENT COSMOLOGIQUE. Dans ces conditions l’Univers devrait se dilater PARTOUT.
If I understand it correctly, the EXPANSION OF THE UNIVERSE goes hand in hand with the growth of the space occupied by the original photons, which constitute the BACKGROUND COSMOLOGICAL RADIATION. Under these conditions the universe should dilate EVERYWHERE.

Om jag förstår rätt, UNIVERSUMS EXPANSION är associerad med ökat utrymme, som upptas av ursprungliga fotoner, som utgör KOSMOLOGISK BAKGRUNDSSTRÅLNINGEN. Under dessa förhållanden skulle Universum utvidgas ÖVERALLT. 
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Or, d’après les astrophysiciens, ni le système solaire, ni les galaxies, ni les amas de galaxies ne se dilatent. Alors QUI PAYE LE PRIX DE L’EXPANSION ?!
However according to the astrophysicists neither the solar system nor the galaxies, nor the clusters of galaxies dilate. So WHO PAYS THE PRICE FOR EXPANSION?!

Emellertid, enligt astrofysikerna, varken solsystemet eller stjärnsystem, eller galaxhop utvidgas inte. Så VEM BETALAR PRISET FÖR EXPANSIONEN?!
_____________________________________________________________________

_____________________________________________________________________

Alors, Sophie ?

Well Sophie?

Nå, Sophie?

_____________________________________________________________________

Hum …

Erm…

Euh....

_____________________________________________________________________

Dites, la cosmologie théorique c’est un truc sérieux, ou quoi ?

Tell me, is theoretical cosmology really serious?

Säg mig, den teoretiska kosmologin är en allvarlig grej eller hur?

_____________________________________________________________________
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Après tout, l’Univers n’est peut être rien d’autre que le fruit de notre IMAGINATION.
After all, maybe the Universe is just the fruit of our IMAGINATION.

När allt kommer omkring, är Universum kanske inget annat än frukten av vår FANTASI.
_____________________________________________________________________

Enfin, Tirésias, ne dites pas de sottises. Que faites vous des FAITS EXPERIMENTAUX, des OBSERVATIONS ?!? Si nous croyons à l’expansion cosmique c’est à cause du RED SHIFT.
Come on, Tiresias, don't be silly. What do you do with EXPERIMENTAL FACTS, OBSERVATIONS?!? If we believe in cosmic expansion it's because of the RED SHIFT.

Kom igen, Tiresias, prata inte dumheter. Vad gör ni av EXPERIMENTFAKTA, av OBSERVATIONERS? Om vi tror på den kosmiska expansionen, så är det på grund av RÖDFÖRSJUTNING.
_____________________________________________________________________

_____________________________________________________________________

Regardez ces deux spectres. L’un est produit en labo par de l’hydrogène porté à haute température. L’autre décompose la lumière envoyée par une galaxie lointaine et présente un décalage vers le rouge important. A partir de ces DONNEES nous en déduisons sa
 VITESSE DE RECESSION. Où est l’imagination là-dedans ?

Look at these two spectra. One is produced by hydrogen heated to a high temperature, the other is of decomposed light sent by a distant galaxy and shows and important shift towards red. From this  DATA we deduce the RECESSION SPEED. Where's the imagination in that?

Titta på dessa två spectrum. Den ene är framställd i laboratorium med väte i hög temperature. Den andra bryter ner ljuset skickat av ett avlägset stjärnsystem och visar en betydlig rödförskjutning. Med dessa DATA kan vi räkna av RECESSIONHASTIGHET. Var är fantasin id et här?
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Comment êtes-vous sûr que ce glissement vers le rouge est imputable à l’effet DOPPLER-FIZEAU ?

How can you be sure that this red shift is due to the DOPPLER-FIZEAU effect?

Hur kan du vara säker på att den här rödförskjutning beror på DOPPLER-FIZEAU-effekt?

_____________________________________________________________________

A quoi voulez-vous que cela doit dû ? A la fatigue de la lumière ? …

What do you want it to be due to? That the light got tired?…

Vad vill du att detta ska bero på? På ljusets trötthet?

_____________________________________________________________________

Le cosmologiste et philosophe MILNE, qui refusait cette idée d’expansion de l’Univers, donnait à cette baisse de la fréquence des photons une toute autre signification ;

The cosmologist and philosopher MILNE, who refused the idea of the expansion of the Universe, gave a completely different signification to this photon frequency reduction .

Kosmologen och filosofen MILNE, som avfärdade denna ide om Universums expansion, gav åt frekvensfallet en helt annan innebörd.
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________
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L’énergie d’un photon est hv, où h est la constante de Planck et v la fréquence. MILNE disait : « Supposons que l’énergie d’un photon se conserve, mais que h croisse proportionnellement au temps. Alors on mesurera, à la réception du message, une fréquence v plus faible, sans effet DOPPLER, sans expansion.

A photon's energy is hv, where h is Planck's constant and v the frequency. MILNE said "Let us suppose that a photon's energy is conserved but that h increases proportionally to time. Then, at the reception of the message, we would measure a lower frequency v, without a DOPPLER effect, without expansion.

Energin av en foton är hv, där h är Planckskonstanta och v är frekvensen. MILNE sade: “Anta att energin av en foton bevaras, men att h ökar proportionnelt i tiden. Vid mottagandet av meddelandet kommer man då att mäta en svagare frekvens v, utan DOPPLER-effekt, utan expansion.
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Un univers STATIQUE ! Mon cher, ça ne tient pas. Que faites vous du rayonnement fossile, trace de l’EXPANSION PRIMORDIALE ?
A STATIC universe! My friend that doesn't work. What do you do with fossil radiation, the trace of PRIMORDIAL RADIATION?

Ett STATISKT universum! Min käre, det går inte.  Vad gör du av fossil strålning, spår av URSPRUNGLIGA EXPANSIONEN?
_____________________________________________________________________

Bon, alors revenons à un univers en expansion, mais par rapport à QUOI ?
OK, let's go back to an expanding universe, but expanding in relation to WHAT?

Nåväl, vi återvänder till ett universum i expansion, men i förhållande till VAD?
_____________________________________________________________________

Y aurait-il un COSMOTOPE ? (*)
Is there a COSMOTOPE? (?)

Finns det en KOSMOTOP ? (*)
_____________________________________________________________________

Non-sens ! Le contenant et le contenu de l’Univers ne sont qu’un seul et même objet. Seul compte la mesure du glissement vers le rouge.

A nonsense! The container and the content of the Universe are one and the same object. The only thing that counts is the measure of the shift towards red.

Nonsens! Universums behållare och innehåll är samma objekt. Det som endast räknas är måttet av rödförskjutning.

_____________________________________________________________________

De toute manière il n’est pas question d’aller faire des mesures sur place pour des objets qui sont à des milliards d’années-lumière. Le tout est de bâtir un SYSTEME DE REPRESENTATIONS qui rende acceptablement compte des observations. En Science on ne fait jamais que SAUVER LES APPARENCES. 

In any case we can't go and measure in-situ things that are millions of light years away. We have to build a SYSTEM OF REPRESENTATIONS that will account for observations in an acceptable way. In Science we never do anything other than to KEEP UP APPEARANCES.

I vilket fall som helst, handlar det inte om att gå och på plats ta mått på objekt som befinner sig på miljarder ljusår borta. Det viktigaste är att bygga upp ett REPRESENTATIONSSYSTEM som acceptabellt redogör för observationerna. I Vetenskapen gäller det bara att RÄDDA ANSIKTET.
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

(*) Littéralement : « l’endroit où se trouve l’Univers ».

(*) Literally: "the place where the universe is".

(*) Ordagrannt: “platsen där Universum befinner sig”.

_____________________________________________________________________
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MODELE DE JAUNE (*)
YELLOW MODEL (*)

GULMODELL (*)
_____________________________________________________________________

Voyons, quand on veut s’imaginer un univers en expansion, on prend en général l’image du ballon que l’on gonfle, avec des petites taches dessinées dessus, figurant les amas de galaxies.

Let's see, when we want to imagine an expanding universe we generally use an image of a balloon being inflated and with small marks drawn on it, which represent galaxy clusters.

Nu ska vi se. När man vill föreställa sig ett universum i expansion, brukar man ta bilden av ballongen som blåses upp, med små fläckar ovanpå, som foreställer galaxhopar. 

_____________________________________________________________________

_____________________________________________________________________

Non, le modèle classique, ça n’est pas comme cela.

No, the classical model isn't like that.

Nej, en klassisk modell ser inte ut såhär.

_____________________________________________________________________

Il te faut fixer sur ton ballon des petites pastilles autocollantes, car les amas de galaxies ne sont pas censés se dilater au cours du temps.

You have to put little stickers on the balloon because the galaxy clusters are not supposed to expand with time.

Du måste sätta små självhäftande pastiller på din ballong, eftersom galaxihoparna förmodas inte att utvidgas genom tiden.

_____________________________________________________________________

_____________________________________________________________________

Dans ce cas l’expansion cosmique correspond aux dessins ci-après.

In this case the cosmic expansion corresponds to the following drawings.

I detta fall motsvarar den kosmiska expansionen de följande teckningarna.
_____________________________________________________________________

(*) “An interpretation of cosmological model with variable light velocity”: JP Petit, Modern Physics letters A, Vol. 3,  N° 16 (1988) Page 1527-1532.

“Cosmological model with variable light velocity, the interpretation of red shifts”: JP Petit, Modern Physics letters A, Vol. 3, N° 18 (1988), page 1733-1744

(*) “An interpretation of cosmological model with variable light velocity”: JP Petit, Modern Physics letters A, Vol. 3,  N° 16 (1988) Page 1527-1532.

“Cosmological model with variable light velocity, the interpretation of red shifts”: JP Petit, Modern Physics letters A, Vol. 3, N° 18 (1988), page 1733-1744

(*) “An interpretation of cosmological model with variable light velocity”: JP Petit, Modern Physics letters A, Vol. 3,  N° 16 (1988) Page 1527-1532.

“Cosmological model with variable light velocity, the interpretation of red shifts”: JP Petit, Modern Physics letters A, Vol. 3, N° 18 (1988), page 1733-1744

_____________________________________________________________________
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Pourquoi est-ce que tous les objets de l’Univers ne grandissaient pas avec lui : les galaxies, le système solaire, les particules élémentaires ?

Why don't all the objects in the Universe increase in size at the same time as the Universe does: galaxies, the solar system, elementary particles?

Varför skulle inte alla objekt i universum växa med det: galaxierna, solsystemen, elementära partiklarna?

_____________________________________________________________________

Mon jeune ami, la taille de ces objets est déterminée par un certain nombre de constantes : la constante de la gravitation G, la constante de Planck h, la masse du proton m, la vitesse de la lumière C.

My young friend, the size of objects is determined by a certain number of constants: the gravity constant G, Planck's constant h, the mass of the proton m, the speed of light C.

Min unge vän, storleken på dessa objekt bestäms av ett visst antal konstanter: gravitationskonstanten G, Plancks konstanta h, protonmassan m, ljushastigheten C.

_____________________________________________________________________

_____________________________________________________________________

Tout cela est bien connu, vous pensez…

All that is well known you understand…

Allt detta är mycket välkänt, ni förstår...

_____________________________________________________________________

Mais pourquoi ces quantités G, h, m, C sont-elles invariables ?

But why are these quantities G, h, m, C invariables?

Men varför är dessa kvantiteter G, h, m, C oföränderliga?

_____________________________________________________________________

Mais parce qu’elles ne varient pas …

Well because they don't vary…

Tja, därför att de förändrar sig inte...

_____________________________________________________________________

D’un jour à l’autre, d’un bout de la Terre à l’autre, certes, mais pourquoi ces grandeurs n’auraient-elles pas varié depuis des milliards d’années ?

From one day to another, from one end of the Earth to the other, of course, but why haven't these sizes varied for thousands of millions of years?

Från en dag till en annan, från ena ändan av Jorden till den andra, visst, men varför har inte dessa storheter ändrat sig sedan miljarder år?

_____________________________________________________________________

_____________________________________________________________________

Je suppose que la vitesse de la lumière C doit être constante à cause de la Relativité Générale…

I suppose that the speed of light C must be constant because of General Relativity…

Jag antar att ljushastigheten C måste vara konstant på grund av den allmänna relativitetsteorin…
_____________________________________________________________________

Ca n’est écrit absolument nulle part…

That isn't written anywhere…

Det är inte skrivet någonstans...

_____________________________________________________________________

Ah bon ? …

No?…

Jaså?...

_____________________________________________________________________
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Et la constante de Planck h ? Elle ne peut varier… à cause de la mécanique quantique ?

And Planck's constant h? That can't vary…because of quantum mechanics?

Och Plancks konstant h? Den kan inte variera... på grund av kvantmekaniken?

_____________________________________________________________________

Cela aussi n’est qu’une autre hypothèse liée à ce SYSTEME DE REPRESENTATIONS.
That too is just a hypothesis linked to this REPRESENTATIONAL SYSTEM.

Det här är också bara en annan hypotes angående REPRESENTATIONSSYSTEM.
_____________________________________________________________________

Mais … ce sont des AXIOMES !?!
But those are …AXIOMS!?!

Men... det här är AXIOM?!
_____________________________________________________________________

Un axiome n’est jamais qu’une croyance avec un col dur et une cravate.

An axiom is nothing more than a belief with a stiff collar and a tie.

Ett axiom är alltid inget annat än en tro med en hård krage och en slips.

_____________________________________________________________________

Vous voulez dire qu’au début de ce siècle on a pu faire les premières mesures précises de ces quantités, qui intervenaient dans les équations, certaines ayant même carrément été découvertes à cette époque. Et puis un CONSENSUS tacite se serait établi, postulant leur CONSTANTE ABSOLUE ?
You mean to say that at the beginning of the 20th century we were able to make the first precise measurements of these quantities, which entered into equations, some of them actually being dicovered then, and that afterwards a tacit CONSENSUS was established postulating their ABSOLUTE CONSTANCE?

Du menar att i början av detta århundrade kunde man göra de första exakta mätningarna på dessa kvantiteter, som dök upp i ekvationerna, vissa av dem har även upptäckts under den tiden. Och sedan har en tyst KONSENSUS varit etablerat, som postulerade deras ABSOLUTA KONSTANT?
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Qu’est-ce qui change, Léon ? Les hommes ont toujours voulu enfermer l’Univers dans leurs fantasmes du moment. Il y a eu les fameux polyèdres de Platon (*), les quatre éléments. Aujourd’hui ce sont les … constantes de la physique.

What difference does it make Leon? Man has always wanted to limit the Universe to his fantasies of the moment. There were the famous polyhedra of Plato (*), the four elements. Today it is these constants of physics.

Vad gör det för skillnad, Leon? Människorna har alltid velat stänga in Universum i sina tillfälliga fantasier. Det fanns berömda Platonska kroppar (*), i fyra element. Idag är det... fysiska konstanter.

_____________________________________________________________________

_____________________________________________________________________

(*) Voir « Cosmic Story », page 26.

(*) See 'Cosmic Story", page 26.

(*) Se “Kosmiska historien”, sida 26.

_____________________________________________________________________
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Attention, pas si vite ! On a montré que si on touchait à certaines constantes de la physique, cela entraînait des choses qui contredisaient les observations !

Hold on, not so fast! It's been shown that if we touch certain constants of physics it brings about things that contradict observation!

Akta, inte så fort! Det har visats att då man rörde vid vissa fysiska konstanter, medförde detta saker som sade emot observationerna!

_____________________________________________________________________

_____________________________________________________________________

Oui, mais si on considère que TOUTES ces constantes varient dans le temps, y compris la VITESSE DE LA LUMIERE ?
Yes but what if we consider that ALL these constants vary with time, including the SPEED OF LIGHT?

Ja, men om man tycker att ALLA dessa konstanter varierar i tiden, bland annat LJUSHASTIGHET?
_____________________________________________________________________

_____________________________________________________________________

La vitesse de la lumière…

The speed of light…

Ljushastighet...

_____________________________________________________________________

Si tu permets aux constantes de varier dans le temps, si tu les « libères », il te faudra aussi créer autant de nouvelles lois physiques pour redonner à l’édifice des connaissances sa solidité.

If you allow constants to vary with time, you "free" them, you also have to create new physical laws to give the edifice of knowledge a new solidity.

Om du tillåter konstanterna att variera genom tiden, om du “befriar” dem, får du också skapa lika många nya fysiska lagar för att återge kunskapsbyggnaden dess styrka.

_____________________________________________________________________

_____________________________________________________________________

SUPER-RELATIVITE
SUPER-RELATIVITY

SUPER-RELATIVITET
_____________________________________________________________________

J’ai trouvé, on a qu’à postuler la CONSERVATION DE L’ENERGIE, et non plus de la masse, et à supposer que les objets de l’Univers SE DILATENT AVEC LUI.
I've got it, we just need to postulate the CONSERVATION OF ENERGY, and no longer mass, and suppose that the objects of the universe DILATE WITH IT.

Jag upptäckte, att man bara måste postulera ENERGISPARANDET, och inte längre massan, och anta att objekt i Universum UTVIDGAS MED DET.
_____________________________________________________________________

_____________________________________________________________________

TOUS les objets, c'est-à-dire les galaxies, le système solaire, les trous noirs et aussi les protons, les neutrons.

ALL these objects, that is to say the galaxies, the solar system, black holes as well as protons and neutrons

ALLA objekt, det vill säga, galaxer, solsystem, svarta hål och även protoner, neutroner.

_____________________________________________________________________

Les objets sont dessinés sur le ballon.

The objects are drawn on the balloon.

Objekt är tecknade på ballongen.
_____________________________________________________________________
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Effectivement, cela te donne une vitesse de la lumière infinie à t=0, qui décroît ensuite en continu (*). La masse croit, mais l’énergie mc² reste constante. La constante de gravité varie comme l’inverse de la masse… et tout cela est solution de l’équation de la
 RELATIVITE GENERALE, de la fameuse EQUATION D’EINSTEIN.

Effectively that will give an infinite speed of light t=0 which continuously diminishes subsequently (*). The mass increases but energie mc² remains constant. The constant of gravity varies as the inverse of mass…and all that is a solution for the GENERAL RELATIVITY equation of the famous EINSTEIN EQUATION.

Det ger dig faktiskt en oändlig ljushastighet t=0, som sedan minskar oavbrutet (*). Massan ökar, men energin mc² förblir konstant. Graviditetskonstanten varierar som motsatsen till massan... och allt det här är en lösning av ekvationen för DEN ALLMÄNNA RELATIVITETSTEORIN, den berömda EINSTEIN EKVATION.
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Ca alors !?!

There's a thing!?!

Det må jag säga!

_____________________________________________________________________

Ce modèle d’Univers est un monstre, une chimère. Que faites-vous du RED SHIFT (glissement vers le rouge) ?

This universe model is a monster, a chimera. What do you do with RED SHIFT?

Denna modell av Universum är ett monster, en chimär. Vad ska ni göra med RED SHIFT (rödförskjutning)?
_____________________________________________________________________

Regardez, ça y est ! On trouve que la constante de Planck varie comme t, donc on retrouve l’idée de MILNE (p65).

Look, there it is! We find that Planck's constant varies like t, so we get back to MILNE's idea.

Tittar, här är det! Vi finner att Plancks konstant varierar som t, man återfinner alltså MILNES ide (s.65).

_____________________________________________________________________

C’est diabolique !

Diabolical.

Det är djävulskt !

_____________________________________________________________________

Voyons voir… le photon est émis avec une certaine ENERGIE hv, qu’il conserve. Durant son trajet la constante de Planck h croît, donc la fréquence v, telle qu’elle sera mesurée à la réception, sera différente (**). Hum … curieux !...

Let's see…the photon is emitted with a certain ENERGY hv, that it conserves. During its journey Planck's constant h increases, therefore frequency v, as it will be measured at its reception, will be different (**). Hmm…odd!…

Nu ska vi se... Fotonen släpps ut med en viss ENERGI hv, som den behåller. Under färden ökar Plancks konstant, och frekvensen v, sådan som den blir uppmätt vid mottagandet, blir olika (**). Hm.... Konstigt!

_____________________________________________________________________

_____________________________________________________________________

Couak !

Clack!

Clack !

_____________________________________________________________________

(*) Dans ce modèle la vitesse de la lumière C varie comme 
[image: image1.wmf]3
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(In this model the speed of light C varies as 
[image: image2.wmf]3
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(**) Le glissement ∆v de la fréquence est proportionnel à la distance à la source. On retrouve la LOI DE HUBBLE. 

 (**) The shift ∆v of frequency is proportional to the distance to the source. This brings us back to HUBBLE'S LAW.

(*) I denna modell ljushastighet C varierar som 
[image: image3.wmf]3
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(**) Frekvensförskjutningen ∆v är proportionell mot avståndet från källan. Vi återfinner HUBBLES LAGEN.
_____________________________________________________________________
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Mais… si ce red shift n’est plus dû à l’effet Doppler à la vitesse de récession des sources, alors, l’Univers n’est plus en expansion, non ? Je ne comprends plus rien…

But...if the red shift is no longer due to the Doppler effect of the recession speed of the sources, then the Universe is no longer in expansion surely? I can't understand anything anymore…

Men... om den här rödförskjutningen inte längre beror på Dopplereffekten, med hastigheten av källornas avlägsnande… då är Universum inte längre i expansion? Jag förstår inget längre…
_____________________________________________________________________

_____________________________________________________________________

On s’en fout ! Tout ce qui compte c’est de retrouver l’observable, le red shift. Dans ce modèle tu ne peux plus MESURER une quelconque expansion puisque alors ton mètre à ruban se dilaterait en même temps que l’Univers.

We don't care! The only thing that matters is to get back to what is observable, the red shift. In this model you can no longer MEASURE any expansion because your tape measure will dilate at the same time as the Universe does.

Vem bryr sig! Det som räknas med är att hitta det som går att observera, rödförskjutning. I den här modellen kan du inte längre MÄTA vilken expansion som helst, därför att ditt måttband skulle tänjas samtidigt som Universum.

_____________________________________________________________________

_____________________________________________________________________

De même tu ne peux pas mettre en évidence LOCALEMENT les variations de h, c, G, m, etc. car les instruments de mesure, basés sur ces mêmes constantes, dérivent « parallèlement’.

In the same way it is impossible to show variations of h, c, G, m etc LOCALLY because the measuring instruments, based on these same constants, drift "in parallel".

På samma sätt, kan du inte påvisa LOKALT varianterna h, c, G, m osv, därför att mättinstrument, som bygger på själva dessa konstanter, drivs åt sidan “parallelt”.
_____________________________________________________________________

_____________________________________________________________________

Au fait, que devient L’ENTROPIE ? 

So what becomes of ENTROPY?

Så vad blir det med ENTROPIN?

_____________________________________________________________________

Elle croît avec le temps t (*). Le paradoxe de la page 36 tombe.

It increases with time t (*). The paradox of page 36 falls.

Den ökar med tiden t (*). Paradoxen från sidan 36 inträffar. 

_____________________________________________________________________

Et cette fameuse SINGULARITE INITIALE à t=0, dont on parle tant ?

And the famous INITIAL SINGULARITY at t=0 that you spoke about so much?

Och den här berömda URSPRUNGLIGA SINGULARITETEN med t=0, som det pratas så mycket om?
_____________________________________________________________________

(*) Dans ce modèle l’entropie S varie comme Log t (Annexe E).

(*) In this model entropy S varies as Log t (Annex E).

(*) I denna modell varierar entropin S som Log t (Annexe E). 
_____________________________________________________________________
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Si on troque la VARIABLE CHRONOLOGIQUE t contre l’ENTROPIE s la singularité n’existe plus, puisque ce soi disant « INSTANT INITIAL » correspond alors à S = -∞ (*). La question de l’état de l’Univers AVANT le big bang n’a plus de sens.

If we swap the CHRONOLOGICAL VARIABLE t for ENTROPY s the singularity no longer exists, because then this so-called "INITIAL INSTANT" corresponds to S = -∞ (*). The Question of the state of the Universe BEFORE the big bang becomes meaningless.

Om vi byter ut den VARIABLA TIDSFÖLJDEN t mot ENTROPIN s, finns singulariteten inte längre, därför att den så kallade “URSPRUNGLIGA MOMENT” motsvarar S = -∞ (*). Frågan om Universums tillstånd FÖRE big bang har inte längre någon mening.
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Ce qui voudrait dire que le TEMPS ne serait pas la bonne VARIABLE pour décrire les EVENEMENTS, mais une sorte de mirage un peu illusoire.

Which means that TIME will not be the right VARIABLE to describe the EVENTS but a sort of illusory mirage.

Vilken skulle innebära att TIDEN inte skulle vara en bra VARIABEL för att beskriva HÄNDELSERNA, men ett slag lite illusorisk hägring.
_____________________________________________________________________

_____________________________________________________________________

Puisqu’on en est à s’attaquer aux paradoxes, on avait vu page 36 qu’on ne savait pas comment expliquer le désordre apparent et l’homogénéité remarquable de l’Univers puisque, dans son jeune âge, les particules s’ignoraient royalement.

Well as we’re attacking paradoxes…we saw on page 36 that no-one knows how to explain the apparent disorder and remarkable homogeneity of the Universe because, when it was young, particles completely ignored each other.

Eftersom vi håller på att ta itu med paradoxerna, såg vi på sidan 36, att vi inte visste hur man ska förklara den uppenbara oordningen och den märkliga homogeniteten i Universums ungdom, och partiklarna som inte kände varandra.

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Ces particules ont émis une onde lumineuse, à vitesse C, au temps t = 0, mais elles s’éloignent si rapidement les unes des autres que leurs « SPHERES HORIZON » ne s’inter pénètrent pas. Elles sont dans un état d’AUTISME parfait (*).

These particles emitted a luminous wave, at speed C and at time t = 0, but they distanced themselves so rapidly from each other that their “HORIZON SPHERES” did not interpenetrate. They are in a state of perfect AUTISM (*)

Dessa partiklar har avgett en ljusvåg, med hastighet C, med tiden t=0, men de avlägsnar sig så hastigt från varandra att deras ”HORIZONT SFÄR” inte tränger in genom varandra. De befinner sig i ett fullkomligt AUTISTISKT tillstånd (*).
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Par contre, dans la SUPER RELATIVITE les sphères horizon s’interpénètrent à toutes les époques, elles grandissent à la même vitesse que l’Univers lui-même. Les particules interagissent. DESORDRE et HOMOGENEITE s’en trouvent justifiés.

However, in SUPER RELATIVITY the horizon spheres interpenetrate during every epoch, they grow at the same speed as the Universe itself. Particles interact. DISORDER and HOMOGENEITY are thus justified.

Däremot tränger horizontsfär igenom varandra under alla tidsepoker i SUPER RELATIVITETEN, de växer upp med samma hastighet som Universum själv. Partiklarna interagerar. OORDNINGEN och HOMOGENITET blir berättigade.
_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

rayon = ct

Radius = ct

Sphère horizon

Horizon sphere

particules

Particles

Radie = ct

Horizon sfär

Partiklar
_____________________________________________________________________

(*) Psychiatrie : absence totale de communication avec autrui.

(*) Psychiatry : Total absence of communication with others.

(*) Psykiatri: total avsaknad av kommunikation med de andra.

_____________________________________________________________________
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Et le temps de Planck, ça reste quand même un problème ! Vous ne pouvez pas vous débarrasser de tous les paradoxes ?!?

And Planck’s time, that remains a problem all the same ! You can’t get rid of all the paradoxes?!?

Och Plancks tid, ett problem återstår ändå! Ni kan inte bli av med alla paradoxer!?

_____________________________________________________________________

_____________________________________________________________________

Voyons, ce temps vaut 
[image: image4.wmf]cs

hG

, une seconde, je regarde…

Let’s see, this time equals 
[image: image5.wmf]cs

hG

, a second, I’m looking…

Nu ska vi se, den här tiden är lik med 
[image: image6.wmf]cs
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, ett ögonblick, jag ska titta...
_____________________________________________________________________

Le temps de Planck varie comme … t ! La barrière de Planck disparaît (*).

Planck’s time varies like…t ! Planck’s barrier disappears (*)

Plancks tid varierar som.... t! Plancks barriär försvinner (*)

_____________________________________________________________________

Autre chose ?

Anything else ?

Något mer?

_____________________________________________________________________

ARGN…

AARGH…

AARGH...

_____________________________________________________________________

Tirésias, où est Anselme ?

Tiresias, where’s Archibald ?

Tiresias, vad är Anselme?

_____________________________________________________________________

Je crois qu’il est là-haut.

I think he’s up there.

Jag tror att han är där uppe.

_____________________________________________________________________

(*) Voir Annexe E.

(*) See Annex E

(*) Se Bilaga E

_____________________________________________________________________
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Comment ça, là-haut ?

What do you mean, up there ?

Hur så, där uppe?

_____________________________________________________________________

Il a vu que les nuages portaient bien. Alors il a pris son deltaplane et il est parti avec les deux autres. Il a dit qu’il rentrerait ce soir.

He saw that the clouds seemed to be OK so he took his hang-glider and went off with the other two. He said he’d be back this evening.

Han såg att molnen ser bra ut. Så tog han sin hängflygare och åkte i väg med de två andra. Han sa att han kommer hem ikväll.

_____________________________________________________________________

_____________________________________________________________________

Un jour, moi aussi, je volerai. Y a pas de raison !...

One day I’ll fly too, there’s no reason why not…

En dag ska jag också flyga. Det finns ingen anledning, varför inte!

_____________________________________________________________________
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La science moderne a la réputation de se construire à partir d’équations affreusement compliquées, que ne peuvent comprendre qu’un nombre très restreint de « grosses têtes ». Mais les idées fondamentales sont toujours très simples et il est fréquent que l’on puisse les illustrer de manière parfaitement valable à l’aide de calculs qui ressemblent à des calculs d’épiciers.

Modern science has the reputation of being built from dreadfully complicated equations that only a very limited number of “brain boxes” can understand. But fundamental ideas are always very simple and can often be illustrated perfectly well with calculations similar to those of shopkeepers.

Den moderna vetenskapen har ett rykte om sig att vara uppbyggd utifrån förfärligt krångliga ekvationer, som endast ett begränsat antal “läshuvud” kan förstå. Men de grundläggande ideerna är alltid mycket enkla och det händer ofta att man kan illustrera dem på ett fullständigt värdigt sätt med hjälp av beräkningar som liknar beräkningar i en livsmedelsaffär.

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Les notes qui suivent en sont des exemples.

The following notes are examples of this.

De följande anteckningarna tjänar som exemple.

_____________________________________________________________________

Annexe A

Annex A

Bilaga A
_____________________________________________________________________

Ou comment retrouver la loi d’évolution de l’Univers en trois lignes de calcul.

Or how to capture the law of evolution of the Universe in three lines of calculation.

Eller hur hittar man lagen för Universums utveckling på tre rader av beräkningar

_____________________________________________________________________

Assimilons l’Univers à un grumeau homogène de poussière de rayon R et de masse M. Considérons un grain de poussière de masse m, situé à sa surface.

Let us assimilate the Universe to a homogenous lump of dust with a radius R and a mass M. Let us consider a grain of dust of mass m on its surface.

Nu ska vi likställa Universum med en homogen dammklump av stråle R och av massa M. Vi ska betrakta en dammklump av massa m, som ligger på ytan.

_____________________________________________________________________

_____________________________________________________________________

On peut montrer que la force qui s’exerce sur cette masse est la même que celle que produisait toute la masse M concentrée au centre 0, c'est-à-dire F = 
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We can show that the force exerted on this mass is the same as that produced by all the mass M concentrated in the centre 0, that is to say F = 
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Man kan påvisa att styrkan som utövas på denna massa är densamma som producerade hela massan M koncentrerad i centrum O, det vill säga F = 
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_____________________________________________________________________

_____________________________________________________________________

Appliquons le 
[image: image10.wmf]g

m

F

=

 de la
mécanique.

Let’s apply the 
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 of mechanics.

Låt oss tillämpa mekanikens 
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_____________________________________________________________________

Il vient : - m R″ = 
[image: image13.wmf]²
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 ou : R²R ″ + GM = 0

That gives : - m R″ = 
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 where : R²R ″ + GM = 0

Så blir det: - m R″ = 
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 ou : R²R ″ + GM = 0

_____________________________________________________________________

autrement dit la fameuse EQUATION DE FRIEDMAN. 

In other words the famous FRIEDMAN EQUATION.

Med andra ord, den berömda FRIEDMANS EKVATION
_____________________________________________________________________

Construisons l’une des trois solutions de cette équation différentielle.

Let’s build one of three solutions to this differential equation.

Vi ska bygga upp en av de tre lösningarna på denna differentialekvation.

_____________________________________________________________________

Donnons pour ce faire à la fonction R(t) la forme atb où a et b sont deux constantes à déterminer.

Let's give for the function R(t) the form atb ,where a and b are two constants yet to be determined.

Med detta syfte ger vi funktionen R (t) formen atb där a och b är två konstanter att determinera.
_____________________________________________________________________

R = atb 
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R′ = abtb-1 
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R″ = ab(b-1)tb-2 
R = atb 
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R′ = abtb-1 
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R″ = ab(b-1)tb-2 

R = atb 

[image: image20.wmf]Þ

 
R′ = abtb-1 
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R″ = ab(b-1)tb-2 
_____________________________________________________________________

On met alors dans l’équation et on obtient: b(b-1)a3t3b-2 + GM = 0 qui doit « fonctionner » quel que soit t. 

We put it in the equation and get:  b(b-1)a3t3b-2 + GM = 0 which should “work” whatever t is.

Vi lägger alltså in i ekvationen och erhåller: : b(b-1)a3t3b-2 + GM = 0 som måste ”fungera” oberoende av t.
_____________________________________________________________________

Seule solution : l’exposant de t doit être nul, donc b = 
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 ce qui donne a =
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The only solution : The exposant of t must be nil, so b = 
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 which gives  a =
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Den enda lösningen: exponenten t måste vara likvärdig med noll, alltså b = 
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, det som ger a =
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_____________________________________________________________________

R(t) est la longueur caractéristique de cet univers, qui peut être assimilée soit à son rayon de courbure, soit à la distance moyenne entre deux particules.

R(t) is the characterisitc length of this universe, which could be compared to either its radius of curvature or the average distance between two particles.

R (t) är den karakteristiska längden av universum, som kan likställas antingen med sin krökningsradie eller med det genomsnittliga avståndet mellan två partiklarna.

_____________________________________________________________________

____________________________________________________________________
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Annexe B – l’univers autistique

Annex B – The autistic universe.

Bilaga B – autistiska universum

_____________________________________________________________________

Un simple coup d’oeil à la courbe R(t) montre que l’expansion de l’Univers a commencé par une explosion, la vitesse d’expansion allant ensuite en se ralentissant.

A glance at the curve R(t) shows that the expansion of the Universe began with an explosion, the speed of expanasion gradually slowing from then on.

En snabb blick på kurvan R (t) visar att Universums expansion började med en explosion, hastigheten av expansionen avtog sedan.

_____________________________________________________________________

_____________________________________________________________________

Si on assimile R(t) à la distance moyenne entre deux particules, ct représente le rayon d’une onde électromagnétique émise à l’instant t=0.

If we take R(t) as the average distance between two particles, ct represents the radius of the electromagnetic wave emitted at the instant t=0.

Om man likställer R (t) med det genomsnittliga avståndet mellan två partiklarna, ct uppvisar en radie av en elektromagnetisk våg, utsläppt i momentet t=0.
_____________________________________________________________________

_____________________________________________________________________

Avec une vitesse de la lumière constante on voit que le rayon de cette « sphère horizon », ou sphère du connaissable restera pendant un certain temps inférieur à la distance moyenne entre les particules, lesquelles s’ignoreront totalement pendant cette période.

With a constant speed of light we see that the radius of this ‘horizon sphere’, or knowable sphere, will remain inferior to the average distance between particles for a certain time, and these particles will ignore each other totally during this period.

Med en konstant ljushastighet ser man att radien av denna “horizont sfär”, eller sfär av vetbar, förblir under en viss tid mindre än det genomsnittliga avståndet mellan partiklarna, som absolute inte känner varandra under denna period.

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Annexe C – Comment calculer le rayon d’un TROU NOIR
Annex C – How to calculate the radius of a BLACK HOLE

Bilaga C – Hur ska man beräkna radie av ett SVART HÅL
_____________________________________________________________________

Soit un astre de rayon R et de masse M et une masse m à sa surface.

Take a star with a radius R and a mass M with a mass m at its surface.

Antag en stjärna av radie R och av massa M och en massa m på sin yta.

_____________________________________________________________________

Supposons que celle-ce soit une fusée. L’énergie qu’elle pourra mettre en œuvre ne pourra pas excéder mc², qui représente son équivalent en énergie.

Let us suppose that this is a rocket. The energy that it can use cannot exceed mc², which represents its equivalent in energy.

Antag att detta är en raket. Energin som den kunde genomföra, kan inte överstiga mc², som föreställer sin ekvivalent i energi.
_____________________________________________________________________

_____________________________________________________________________

Calculons l’énergie à dépenser pour extraire cette masse m du champ de gravité de l’astre.

Let’s calculate the energie that must be expended to allow this mass m to escape the star’s gravity.

Nu ska vi räkna ut energin som måste förbrukas för att ta ut massan m ur stjärnans graviditetsfält.

_____________________________________________________________________

La force est F = -
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The force is F = -
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Styrkan är F = -
[image: image36.wmf]²

r

GMm

 
_____________________________________________________________________

Le travail est - 
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dr où dr est un petit déplacement.

The work is - 
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dr where dr represents a small movement

Arbetet är - 
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dr, där dr är en liten omplacering.

_____________________________________________________________________

L’énergie à fournir est E = - 
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The energy required is E = - 
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Energin som krävs är E = - 
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_____________________________________________________________________

Cette énergie excédera l’énergie maximale disponible si :

This energy will exceed the maximum energy available if :

Denna energi kommer att överstiga maximala energin tillgänglig om:

_____________________________________________________________________
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Un calcul plus fin, tenant compte de la diminution de la masse aurait conduit à la valeur exacte 

Rs = 
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A more precise calculation, taking the reduction of mass into account, would give the exact value Rs = 
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En finare beräkning, med hänsyn till minskningen av massan skulle leda till det exakta värdet 

Rs = 
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Si une masse M est contenue à l’intérieur de son rayon de Schwarzschild, aucun objet ne peut en sortir, car l’énergie nécessaire est supérieure à mc².

If a mass M is contained within its Schwarzchild Radius, no object will be able to leave it because the energy required is superior to mc².

Om en massa M finns inuti av sin Schwarzschilds radie, kan ingen objekt gå ut därifrån, eftersom den nödvändiga energin är högre än mc².
_____________________________________________________________________

_____________________________________________________________________

LE RAYON DE Schwarzschild du soleil est de 3,7 km.

The SCHWARZCHILD RADIUS of the Sun is 3.7 km

Solens SCHWARZCHILDS RADIE är 3,7 km

_____________________________________________________________________
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Le photon a une énergie hv.

A photon has an energy hv

En foton har en energi hv

_____________________________________________________________________

Il représente une quantité équivalente de matière m
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 grâce à laquelle on peut calculer son énergie d’extraction :    
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It represents a quantity of matter equivalent to m
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 with which we can calculate it’s extraction energy : 
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Den representerar en ekvivalent mängd av materia m
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 tack vare vilken kan man beräkna sin energextraktion: 
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L’énergie d’un photon réussissant à quitter l’astre est : E’ = hv (1-
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The energy of a photon managing to leave the star is : E’ = hv (1-
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Energin av en foton som lyckades att lämna stjärnan är: E’ = hv (1-
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Phénomène de red shift gravitationnel

Gravitational red shift phenomenon

Fenomen av gravitationell rödförskjutning

_____________________________________________________________________

Si R 
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, l’astre ne peut plus émettre de lumière. C’est un trou noir.

If R 
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, the star canot emit light. It’s a black hole.

Om R 
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, kan stjärnan inte släppa ut mer ljus. Det är ett svart hål.
___________________________________________________________________

Annexe D – et maintenant passons aux conditions de Planck.

Annex D – and now let’s go to Planck’s conditions.

Bilaga D – och nu ska vi gå over till Plancks konditioner.

___________________________________________________________________
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